e 5a

SINGLE PPM

seOCAM

M RUT | H BT E| AL
SEOAM MACHINERY INDUSTRY CO.,LTD.




seOAMm

HISTORY OF SEOAM

1978. 02.
Establishment of Hwacheon Gear Works Co.,Ltd.
ﬁ“:ﬁﬁ%ﬁﬁ%ﬁﬁxﬁ
ERE Y TERAS T
SIM 7|01 SUFAE AL HE

1980. 04.

Merged with Hwacheon Chuck Co. Ltd.
SHERFERASHEH

ERF v v o TR BNEH

SHChuckSH(F) &=+ &Y

1986. 07.

Made a contract of technical cooperation with Howa
machinery ., Ltd.

5 BEHOW AL ER A GIE S H

HZ& HOwA TS &I B ALY

UZHOWASH(F)2t 7|22 A<t

1992 02.

Exported Power Chuck to Howa machinery Ltd.
HHFEEO0EBEHOW AU

RI-F ey o 2HEK HOWA TEHRRASH
Power Chuck ¥& HOWA &

1995. 01.

Moved to new factory in Hanam Industrial Complex.
MEEARIUESROHI)

/v F & T 2 TS5

SHHEHOE SF M= 0|M

199. 12.

Achieved C.E Mark.

FKEEUNC. BT

I-RyARERE CE -oRE
Europe QM1 C. E Mark &5

1997. 12.

Appointed as an excellent company for the cooperation of bor &
employer. ;

FESEWEIRN AL SRS HHHBKE)

HER NEBREFETE GTBAR)

AR 27| MY (S22

1998. 09.
Achieved 1SO 9001 certificate.
IS0 9001 E FrB BT

1SO 9001 33t Hy43
IS0 9001 15 &=

1998. 11.

R&D center established.

R& D A 3z

BEN R IL

7Y A M

1999. 01.

Exported Power Chuck to germany.
P HFEL0ERE

Power Chuck # | 1 v ~BgH
Power Chuck S¥+&

2000. 10.

Changed company name into “SEOAM”
NEEEATREIM U HN =1t

EFE 05 mgRT A BT
SIETOUIM MATASH N E 4S5 HE
2001. 04.

Exported Power Chuck & Cylinder to USA.

HF AL E0 E XE
Power chuck & Cylinder % A E~ 8§ H,

Power chuck & Cylinder O|24&&

2001. 05.
Appointed as an exce llent medum & small sized company by Prime
Minister.

RIEEFE BT B ) E kR

2 | www_seoam kr

2001. 11.

Awarded a prize by president in commemoration of TRADE day.
EBRTLERES% 4T

B850 HARBEER B

ool | EUY 4

2003. 05.

Exported Powerchuck & Cylinder to China.
P NFEREERBIH0 EHE
Powerchuck & Cylinder % Ha[E ~ 8§,
Powerchuck & Cylinder Z34&

2004, 01.

Exported Power chuck & Cyinder to South Africa.

B NFEREEH L 0 E fF R
Powerchuck & Cylinder % g7 7 ) HELFIE ~dgitt,
Powerchuck & Cylinder HOtZ 271332 +&

2004. 11.

Awarded trophy for exportsover US$3 Millionsand

awar ded reco gnllon from Korea presdent

FIRE St O EE 8 30077 Ee iy b s 9 23w

RFEEAREERERV 3005 Ml igdE R E
THEO|AL CHE AN 4 O 3009+ S&E 24

2004. 12.

Awarded Materials and Components Technology prize by Ministe
of Commerce, Industry and Energy.

FRIFLS, BRI 2 MR R TR 2

EXHERE AR RN 28

AARIR S F AR EAK 7|24 4

2005. 11.

Awarded trophy for exportsover US$5Millionsand

by Minister of Commerce, Industry and Energy

FR'BAZ B0 ERL O 2, FILRRSKER
BH0H007 FABHERERY BEXEFARERE

2009 & 50028 SEE 44 U AN BBY 24

2006. 01.

Developed high speed Compe nsating Chuck & Hydraulic Cylinder (8,000 rp
FEBL N ER E@ sk L RE® < (8,000 pm)
BONHERSRT v v 28 BEY ) v X -B%(8,000rpm)
UMY HAY n&H g D&M EIH (8,00 0rpm)

2006. 03.

Awarded a model taxpayer prize by Minister of Finance and E con omy
EE N EEE A MEM&:.F&E

BB E HRE (MR AE)

BHE A MY E A2y

2006. 12.

Spaten fs registered for Com pensating C huck etc.(Korean intellectual Property Off
RS RO N MEREH RS ER (ZFT)

KB FONHER A7 —F ¢ v 7{1115{4%%&3%}(#? tFr)

Mulo] AMEH B4 DA 45U SHE S

2007. 04.

Approval components & material com pany certificate by Minister of Commerce,
Industry and E ner gy

s ASERRERL(F LR EHKE)

BREMEMIEHEE (EXHRAR)

SEANET Y NHY (MRS YH)

2008. 11.

Achived Single PPM certifcate for Power Chuck and Hydraulic Cylinder
REetreMaE (RERE & BEBTD)

Sy SIPPMBERIEE (N 7-F vy o8 REYY v & -)
ASPPM R 5 AS(RUY & FYUA EH)

2011. 12.

Stk lised atk 0SDAQ
KOSDAQ LT
KOSDAQ_HE
KOSDAQ A%




CONTENTS

OWER CHUCK / 08

YDRAULIC CYLINDER / 38

ANUAL CHUCK / 54

CCESSORIES / 64

PECIAL CHUCK / 72

AFFILIATE 857

| o= I3 E 7|25 A3 A

HIACEON MACHNETOQL COLTD  HRRTHAM

I = ]St E7|AFTAS| AL
HI ACHEON MACHINERY 00, LTD. Siihait

I —= B EIT(of AT2|0pF Alg|A}
TPS KOREACO.LTD. TPSKOREA T &4

www_seoam kr |3



R CHUCK & HYDRAULIC CYLINDER

Based on the technical cooperation with HOWA in Japan, we developed power chucks and hydraulic
cylinders for the first time in Korea. On top of that, finally, we achieved technology independence by
developing world-class SEOAM SERIES, which brings us significant improvement in technology and

paves the way for the world-class company.

Compact powerful! Elaboration to go with that power.
The greatest work created

with the know-how of 30 year’s history

SEOAM CYLINDER SERIES!

It will give you the best satisfaction

SRR HIBEN, RED LI TR B
SOF BT WA PR AE R T BB ARYE =Tl
Ia CEHELIR P AR BERFEK.

P& CTHEBY Bz HESEH
30E) BELOISHLEE » TEA LRSS OLHE SEOAM

SEOAM CYLINDER SERIES! #7%#El: i T #4244t | £ 1.

4 | www .seoam kr

L
i




#5 B EHOWATHTIR AGIENE T L] V' 3) N+ ERE s mil. mSyImyTH
Y RAEHSEOAM BT i, RS B EAHE L0 B U IR HEE
ALHBERE, FHhREIIME, RN SRR,

HAHOWA TEURSHORAHRECBHIA D - Fr v s E MRV Y v X - 28E CRICHRELE L.
SEL ) C XA BHoRR HRERICENREL 2L ) —X AT-Fpo s,

HEY Y & - FHERRL £ L.

U= HOWA et 7|£ MFZ I A RAUMRGHE S 2 X2 JH s L,

o|{E £XE 7|

HIA % £Z2| SEOAM SERIES Lt &, 7¢f

We created SEOAM CHUCK SERIES
to be the best in the world

with our skills and experience built
during a quarter century!

You can check its quality yourself.

REMRLIERBRA, FENER,

A7 B R—ANSEO AMFERTL ER%
SUEMAFTRD, WEVR —BEABFRUMKA @,
LR ERUAELT

7= o0 B9 R e B

S0EMER L EMHE R 2 i tREEZ BiE L &
AT: SEOAM vy 4L ) =X CORBEZCEGTIME
R p

NAEDE SEZ BHEARI
SEOUAM CHUCK SERIES!

1 EUS Y HAUs FAAL

w

www_seoam_ kr |5




| POWER CHUCK : STRUCTURE & PART NAME |

CAH-CGH [ | - [ ][]

Chuck Size

HZF / Standard / {fER / {ZHR

OIEEt EY / Adapter type / BEEERZE / 747 4A-417
2-7 Efl/ 2-jaw type / 2-jawihzk / 2JT&!

MASTER JAW IJAW NUT

DRAW SCREW (=] £II B

1 1
of==DE
\\ !

[TJ] ] ToP JAW

PILOT BUSH

"I WEDGE PLUNGER
RETAINER

BODY -

CLOSED CENTER POWER CHUCK : CAS

\\

Chuck Size

HZF / Standard / iTEER / {ZHR

OIEt EtY / Adapter type / BEEERZE / 747 4-417
2-7 Efl/ 2-jaw type / 2-jawihzk / 2JT&

JAW NUT
/s

i

e
DRAW TUBE [

=il | TOP JAW
! \'ll

I
T_F'f L_La}. COVER
ROUND NUT/ | UL WEDGE PLUNGER
DRAW SCREW/ o |

6 | www _ seoam kr



| HYDRAULIC CYLINDER : STRUCTURE & PART NAME |

OPEN CENTER HYDRAULIC CYLINDER : YAH/YGH/YSH/YSGH

Cylinder Size Blank |:Standard
- CA '— Coolant Collector
Cylinder Model A~ Big Bore (Exa* w&ﬁ { {ZHERY
Gl Great Bore (I 2E7) / ROBPZEL | AEREZ
St Sim-Body Big Bore () /N 2 LB
SG- Slim-Body Great Bore (22 EES) / FNAOBHZER | 21) LAEFE

CYLINDER BODY PISTON
DISTRIBUTOR / CYLINDER COVER

STOPPER

HOUSING \RELIEF VALVE
\CHECK VALVE

Cylinder Size

Cylinder Model S — #&& / Standard / iRl  {Z#AY
SC [~ Ha#e WA / Check valve type / HABET ( F v 43 L7 HERL
SP — ZHAYX| £&7|58 / Proximity switch type / AMFRET  FfE2 1 v FEUT(HATEEEL
ST HIgE WEHITAYR 22|5E / HARKRET + THTREW (
check valve type + proximity switch type /

Fry OnNTAREL « R A v FEUT U AREL

CYLINDER COVER PISTON ~ CYLINDER BODY

S/WHOUSING  DISTRIBUTOR SHAFT [[HE—= t

DETECTING RING

DETECTING RING SHAFT
HOUSING / CHECK VALVEu |

\ RELIEF VALVE

. J

www _seoam_ kr |7



SeOAM
POWER CHUCK

Z|iiete XAReez zids Tttt

U Z=2 RYAMS JHLote dHEARE SME 78 BYfls =82
= IfefEnt n& Aeets Aoleh tefel Al2|=2 10| fn s 4 U=
M2 ME|IAS MiSot ESAS 24 shlsUH

M7 AZETA2AE "o S8 "0 HUE"S AZELC

We will make a great effort to get customers satisfaction with self—confidence of the best.
Having accumulated technologies by developing own power chuck series for the first time
in Korea and continuous improvement efforts, the SEOAM promises to provide world top
class guality products and reliable services with various power chuck series directed to
realizing high gripping force, high speed with light weight.

SEOAM Machinery is proud of the highest quality and precision products.



CAH

TAZTE MR
BIG BORE POWER CHUCK

10P

CAHA

D452 19/
O2E] =xp2)
BIG BORE POWER CHUCK
(SHORT TAPER)

12P

CAHT

2__u_ J_—)'&—;t'T'__4

J_|_|-_F| |
2-JAW BIG BORE
POWER CHUCK

14P

CAHF

% 14533
Tt/

4-JAW BIG BORE
POWER CHUCK

16P

GREAT BORE
POWER CHUCK

18P

CGHA

S 523 19
(OfrEf £
GREAT BORE POWER CHUCK

(SHORT TAPER)
20P

CGHT/ F

7 REZ

%T'_—d u_f_er-l
2-JAW, 4-JAW GREAT BORE

POWER CHUCK
22P

CAS

DASAS TjolA
CLOSED CENTER
POWER CHUCK

24P

CASA

TAZAIS IR
(OfZE] =213
(CLOSED CENTER POWER CHUCK

(SHORT TAPER)
26P

CAS-HC

L = =
L DAZNE A

CLOSED CENTER COMBINATION CHUCK
(Hydrauiic+ndependent)

28P

CASD

DESHY IHA
(Direct Mount type)
CLOSED CENTER POWER CHUCK

(Direct Mount type)
30P

CAST

-5 DAZNH 19
2—-JAW CLOSED CENTER
POWER CHUCK

CASF-HC

4% DAZAS MY
4-JAW CLOSED CENTER
COMBINATION CHUCK
(HYDRAULICHNDEPENDENT)

33P

C11MB-C13M

35 E22Cf2
3-JAW DRAW DOWN CHUCK

34P

C63MB-CodM

y2esE ¥
SWING LOCK CHUCK

36P



AHONHI3 43M0d

—_ =
=

rlo

mjot=

- BOITED
-+ EETE

=

- &5t A

=

-+ High Gripping Force - High Speed

- EREIR
- LR

- st

a4

+ Light Weight

UV ]

-EE(ER - MR

-EBE

- TSR

- Durabiity

Dynamic Gripping Force /Z13 5 H1/E8MEEH S > 7/ 88 0tk M

g 6500 - E’ :g T g 25000 — —
ar 000 T —= W 20000
£ o = fm IS s
& 3000 — @ x Iﬁ - —— . 8 R \\‘Q\ S
T4 CAHOE | 10000 N
2000 6000 catta| — \ \\
1000 ol 5000
2000
1000 2000 3000 4000 5000 6000 7000 8000 071000 2000 3000 4000 5000 6000 7000 07500 1000 1500 2000 2500 3000
2| F (rpm) 2| H4 (rpm) B|F = (rpm)
X o @ SHS RXIS5H7| s 2|4 23| 0l TJ2|A S FSIH FUAIL
X It is recommended to grease chucks at least twice a day in order to maximize longevity.
Specifications /#F&/ /AL E
NTHB orgarno, | wnderess | DUONS | i | Punoersinke | Giong fedenaorbora) | K e
s -’.‘-é#z.* BEH(XZ)  [TAERI(HFY =¢ m—m— : = Si8AMEHY
Model&Al mm mm Max Z|cH Min |4 KN(kaf)
CAH-05 1AHO5 - 33 54 10 135 10 175(1784)
CAH-06 1AHO06 A2-5 46 5 13 169 13 25(2500)
CAH-08 1AHO8 A2-6 52 76 18 210 11 40(4080)
CAH-10 1AH10 A2-8 77 85 20 254 31 50(5100)
CAH-12 1AH12 A2-8 91 102 24 304 34 58(5916)
CAH-15 1AH15 A2-11 118 106 23 381 30 71(7240)
CAH-18 1AH18 A2-11 118 106 23 450 30 71(7240)
CAH-21 1AH21 A2-11,15 140 106 23 530 87 90(9177)
CAH-24 1AH24 A2-11,15 165 104 23 610 110 90(9177)
CAH-32 1AH32 A2-15,20 240 18 34 800 152 100(10193)
C.AF Max. static - Weicht
Spe ' gripping force i?geﬂg);zg (Wihs?an(;%]soﬁian_s) MomerﬁDofzinenia Matching cylinder | Matching hard jaw |~ Matching soft jaw
|} Y=imiets] - ZY(BEAZE 3R M2A2 g He5lEx M2AEZE
Model&i4l KN(kgf) L ko it
CAH-05 36(3671) 7000 67 0.7(0.071) YSH-YAH-05 HJ-04A1 SJ-05T1
CAH-06 63(6426) 6000 125 226(023) YSH-YAH-06 HJ-06T1 SJ-06T1
CAH-08 94(9597) 5000 223 6.67(068) YSH-YAH-08 HJ-08T1 SJ-08T1
CAH-10 125(12740) 4200 345 1284(1.31) YSH-YAH-10 HJ-10T1 SJ-10T1
CAH-12 147(15000) 3300 553 2871(293) YSH-YAH-12 HJ-12A1 SJ-12A1
CAH-15 180(18355) 2500 120 89.14(9.09) YSH-15 HJ-15T1 SJ-15A1
CAH-18 180(18355) 2000 164 174.6(17.8) YSH-15 HJ-15T1 SJ-15A1
CAH-21 234(23861) 1700 235 351.1(35.8) YSH-15 HJ-21B1 SJ-21A1
CAH-24 234(23861) 1400 293 651.2(66.4) YSH-15 HJ-21B1 SJ-21A1
CAH-32 240(24 464) 1200 530 598.4(61) YSH-21 - =

10 | www _.seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

Dimension/R~t/<#&K/A+ &

SERRATION PITCH 1

5 3
1.3,2

oA

2
@G
@H
oW
X

o lemiE .

~__ A B C F G H J K L M N max N min

Model 84
CAH-05 135 60 110 4 96 826 33 3-M10 15 14 265 238
CAH-06 169 80 140 5 116 104.8 46 6-M10 12 20 335 307
CAH-08 210 91 170 5 150 133.4 52 6-M12 15 25 a7 379
CAH-10 254 100 220 O 190 171.4 7 6-M16 17 30 545 503
CAH-12 304 115 220 6 190 171.4 91 6-M16 18 30 674 623
CAH-15 381 133 300 6 260 235 118 6-M20 30 43 82 767
CAH-18 450 133 380 6 320 235 118 6-M20 30 43 82 767
CAH-21 530 140 380 6 330.2 330.2 140 6-M22 34 60 985 932
CAH-24 610 149 380 6 330.2 330.2 165 6-M22 32 60 108.4 103.2
CAH-32 800 150 520 6 463.6 463.6 240 6-M24 31 38 153.5 144.5

o lem¥s ) )

Vo del gA_: Omax Omin = Pmax  Pmin Q R S T U max \% w X Y z
CAH-05 1975 | 775 1 -9 23 10 20 2 M40X1.5 3-M6 45 20 26 54
CAH-06 23 10 12 -1 31 12 19 2 M55X20 3-M6 60 20 33 72
CAH-08 27 10 165 -1.5 39 14 205 2 M60X20 3-M6 66 30 39 95
CAH-10 31 12 95 -10.5 44 16 27 2 M85X2.0 3-M8 94 30 46 110
CAH-12 42 12 10 -14 50 21 28 25 | M100X20 &= 3-M8 108 30 518 111
CAH-15 438 183 11 -12 62 22 39 3 M130X20 | 3-M10 | 139 60 70 165
CAH-18 738 183 11 -12 62 22 39 5 M130X20 | 3-M10 | 139 60 70 165
CAH-21 875 215 11 -12 65 25 39 ) M155X30 = 3-M12 | 170 80 73 180
CAH-24 1175 | 215 20 -3 65 25 40 5 | M175X30 | 3-m12 | 187 | 80 73 180
CAH-32 190.6 | 195 29 -5 75 265 40 10.4 | M250X30 | 3-M12 | 260 80 836 160

Model Description/ZFlE 38R/ A BFHE R R/EAHS HA

CAH O -0

Chuck Size

Blank | Standard
A | adapter type
T | 2-jaw type

CGH I -0

Blank | Standard
A | adapter type
T | 2-jaw type

Chuck Size

x X 2 AR ol 1io|
X Specifications are subject o change without rotice.

N
wzE 4 Us

UEL CL

CAS O -0J0O0 AO

Blank | Standard
A | adapter type
T | 2-jaw type
D | Direct mount type

www .seoam kr |11

Chuck Size Spinde Nose

AMONHD H3Mod



TEE53E TIHE(OHEE 729)
B

BIG BORE POWER CHUCK(SHORT TAPER)

. BEREER 0 -F v 5 (757 8-11) / ARAN HE GEHE)

(@]

S

Tl

nu)

2 - DMS THE - ARS NI - ZANZDE -S4 23 80|
Cc

()]

A

-+ High Performance and High Accuracy -Spindle Direct-Mounting Type
* Minimize changing time - Convenient Attachment Option

-- BHsE BFE - 20 DIERE - TEEREREER - Bt 4oy ey
- MRdY 18RS - BT - BEETR TR

x =o| ool £HS RX[6h7| fUsh &4 23| O O2|A S FUSHH FHAIL
x It is recommended to grease chucks al least twice a day in order to maximize longevity.

Specifications /#F&/ R/ AL B

M\u\\SpecMg; o _ Thru-hole Jawstroke Plunger stroke Grippi_ng Dia(Exle_rnaI gripping) Max. perm issible
N | GEe | Ssimeo| Dmd | D | N aees | HeGiansn | o
ModelAl mm mm i Max X|cH Min |4 KN(kgf)
CAHA-06 1AHAQ6 A2-5 46 55 13 169 13 25(2500)
CAHA-08 1AHA08 A2-6 52 76 18 210 11 40(4080)
CAHA-10 1AHA10 A2-8 77 85 20 254 31 50(5100)
CAHA-12 1AHA12 A2-8 91 102 24 304 34 58(5916)
CAHA-15 1AHA15 A2-11 118 106 23 381 30 71(7240)
CAHA-18 1AHA18 A2-11 118 106 23 450 30 71(7240)
CAHA-21 1AHA21 A2-11,15 140 106 23 530 87 90(9177)
CAHA-24 1AHA24 A2-11,15 165 104 23 610 110 90(9177)
CAHA-32 1AHA32 A2-15,20 240 18 34 800 152 100(10193)
Specﬂcg Max.'smcgnp_pi"g bree Ma>_<.permis§ti|e spied (Wth ga\:\éeaigrumsgn jaws) GDZ. .| Matching cylinder | Matching hard aw = Matching soft jaw
A 0§ H =mpota }JI'.M%{ZI’_‘._‘*T 5% (EXATE FE3) Moment of inertia M2 o NEHCE NEAEZE
Modersial KN(kgf) rp.m(min™") e N (kgfr )
CAHA-06 63(6426) 6000 137 245(0.25) YSH - YAH-06 HJ-06T1 SJ-06T1
CAHA-08 94(9597) 5000 236 690(0.71) YSH - YAH-08 HJ-08T1 SJ-08T1
CAHA-10 125(12740) 4200 40 1265(1.29) YSH - YAH-10 HJ-10T1 SJ-10T1
CAHA-12 147(15000) 3300 64 30.00(306) YSH - YAH-12 HJ-12A1 SJ-12A1
CAHA-15 180(18355) 2500 127 9355(954) YSH-15 HJ-15T1 SJ-15A1
CAHA-18 180(18355) 2000 178 187.30(19.1) YSH-15 HJ-15T1 SJ-15A1
CAHA-21 234(23861) 1700 246 362.83(37.0) YSH-15 HJ-21B1 SJ-21A1
CAHA-24 234(23861) 1400 304 660.94(66.4) YSH-15 HJ-21B1 SJ-21A1
CAHA-32 240(24 464) 1200 547 598.4(61) YSH-21 - -

12 | www .seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

AMONHD H3Mod

\*\\ Ite M2t =
A A B C D E B G H J K L M Nmax = Nmin
Modeigial
CAHA-06 | 169 90 140 82563 15 5 116 104.8 46 6-M10 16 20 335 307
CAHA-08 | 210 103 170 106.375 17 5) 150 133.4 52 6-M12 18 25 417 379
CAHA-10 | 254 113 220 139.719 18 5 190 171.4 77 6-M16 24 30 545 503
CAHA-12 | 304 127 220 139.719 18 6 190 171.4 91 6-M16 25 30 62.1 56.7
CAHA-15 | 381 149 300 196.869 22 6 260 235 118 6-M20 28 43 82 76.7
CAHA-18 | 450 149 380 196.869 22 6 320 235 118 6-M20 28 43 82 76.7
CAHA-21 530 161 380 285.775 27 6 330.2 330.2 140 6-M22 34 60 985 932
CAHA-24 | 610 170 380 285.775 27 6 330.2 330.2 165 6-M22 & 60 108.4 | 103.2
CAHA-32 | 800 186 520 285.777 42 6 463.6 463.6 240 6-M24 31 38 153.5| 1445
\\\\ lte m&s
g Omax | Omin | Pmax | Pmin Q R S T U max Vv W X Y z
Modelgal
CAHA-06 23 10 27 14 31 12 19 2 M55X2.0 3-M6 60 20 33 66
CAHA-08 27 10 835 195 39 14 205 2 M60X2.0 3-M6 66 30 39 86
CAHA-10 31 12 275 75 44 16 27 2 M85X20 3-M8 94 30 45 108
CAHA-12 45 18 28 4 50 21 28 2 M100X20 3-M8 108 30 5 111
CAHA-15 | 438 183 33 10 62 22 39 5 M130X20 | 3-M10 139 60 70 165
CAHA-18 | 738 183 33 10 62 22 39 5) M130X20 | 3-M10 139 60 70 165
CAHA-21 875 215 38 15 65 25 39 5 M155X30 | 3-M12 166 80 73 180
CAHA-24 | 117.5 215 47 24 65 25 40 5) M175X30 | 3-M12 187 80 73 180
CAHA-32 | 190.6 195 71 37 75 255 40 104 M250X30 | 3-M12 260 80 836 160

% A o ARI2 olnglol W 4 sttt

X Specifications are subject o change without rotice.

www .seoam kr |13



AHONHI3 43M0d

X Aol @l

AHS
SEE

(=
T

2-JAW BIG BORE POWER CHUCK
22MBERZEIN T - F v v 4 | KBRNEHEE2M

Xlet7| Qo & 223 Ol a22|AS

- - O|EBEE ot

.M

olr

gL,

—+ Clamping of Irregular Work

X

=l

- High Performance and High Accuracy

« Spindle Direct-Mounting Type

-- SITIRIPOR - Stee SieE -

- - SEEAANITH

#5104

FHN

2Ly PLEER

- BT HEE - BETRR

X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /#F&/ R/ AL E

\\ SpecAte - Thru-hole Jaw stroke Gripping Dia(External gripping) | Max. pem issible
OrderNO. | SPindenose  (neter) | (Diameter) Z;‘;e;sg;k; oI (2 ATk mm input force
QrHs o uBA®Z) Tasza®y) o= 518 AICH
ModeA! FETA mm mm Max Z{cH Min &4 KN(kgf)
CAHT-06 1AHT06 A2-5 46 55 13 169 13 166(1700)
CAHT-08 1AHTO8 A2-6 52 76 18 210 11 266(2720)
CAHT-10 1AHT10 A2-8 77 85 20 254 31 333(3400)
CAHT-12 1AHT12 A2-8 91 102 24 304 34 39(3995)
CAHT-15 1AHT15 A2-11 118 106 23 381 30 47(4793)
\\\ Spec ARE | yyax sttic gripping force | Max per missible spee d LI GD?
S 5 - . " (With standard soft jaws) -~ Matching cylinder Matching soft jaw
;\:\\ ilﬂlK’ﬁ(’i‘.l;;‘l.@‘. Hlﬁ(%ﬂl’.‘j‘;‘.- 53 EFATE 338 Mo,[lr.\e7nzkoff|n’e)ma PP NRAETZ
Modeia g rp.m(min ko i (kaf.m
CAHT-06 42(4284) 6000 123 220(022) YSH- YAH-06 SJ-06T1
CAHT-08 63(6398) 5000 217 686(0.70) YSH- YAH-08 SJ-08T1
CAHT-10 833(8493) 4200 337 1255(1.28) YSH- YAH-10 SJ-10T1
CAHT-12 100(10200) 3300 51 2647(27) YSH- YAH-12 SJ-12A1
CAHT-15 120(12236) 2500 115 87.25(890) YSH-15 SJ-15T1

14 | www _seoam Kkr



Outward Drawing/4} EUER/ARIEY @ & =

)]
14000 Q
2000 CAHT-1S é
1
g X T
o 10000 LN ')
or N |canT2 T
= 8000 [ T—=1T cC
E | ‘: CAHT-10 %
6000 ourr; \‘TQ‘
4000 |——=— s
CAHToS —]

1000 2000 3000 4000 5000 6000 7000
2| H 4 (rpm)

Dimension/R~/<EEK/ A+ &

tem&ts .
\ A B © G H J K L M Nmax Nmin
Model 34}

CAHT-06 169 80 140 116 104.8 46 6-M10 12 20 335 307
CAHT-08 210 91 170 150 133.4 52 6-M12 19 25 417 379
CAHT-10 254 100 220 190 171.4 77 6-M16 17 30 545 503
CAHT-12 304 115 220 190 171.4 91 6-M16 18 30 62.1 56.7
CAHT-15 381 133 300 260 235 118 6-M20 30 43 82 76.7
W—%‘
Omax = Omin Pmax Pmin Q R S T U max \ W X Y z
Model 34!
CAHT-06 23 10 12 -1 31 12 19 2 M55X2.0 3-M6 60 20 33 66
CAHT-08 27 10 165 =15 39 14 205 2 MB0X2.0 3-M6 66 30 39 86
CAHT-10 31 12 95 -10.5 44 16 27 2 M85X2.0 3-M8 94 30 45 108
CAHT-12 45 15 10 -14 50 21 28 2 M100X20 = 3-M8 108 30 51 111
CAHT-15 4375 | 1825 11 -12 62 22 39 5 M130X20 | 3-M10 139 60 70 165

x x4 2 Al oluglo] MZE 4 AUsLITH

% Specifications are subject o change without rotice.

www .seoam kr |15



AHONHI3 43M0d

% xo| Q2 4ot

S RAlst7| ol zla

X It is recommended to grease chucks at leasl twice a day in order to maximize longevity.

Specifications /ATF&/ TR/ AL &

4-Z TEFIE O H
4-JAW BIG BORE POWER CHUCK
12(BEAEIN D - F v v 4 [ KBRS HFE4M

- - O|EBEE ot

- - SEEAANITH

—+ Clamping of Irregular Work

23| Oy TIPS FUSH0f FHAIR

+al

AC"I

olr

s L=}

- Spindle Direct—-Mounting Type

-- SRITIRHPOR - SisE SieE -

« AL
==

eI

26y PLERER

-MEET WS - BT

- High Performance and High Accuracy

SpecAt : Thru-hole Jaw stroke L -~ M iS5
Spinde nose X ’ Gripping Dia(External gripping) | Max. pem issible
Order NO. ? NO (Diameter) (Diameter) Z;T%elsémik; LHotA(Q| Amtehmm input force
UMz xaa2 BEA(MY) ;AERI(NY) "7 518 ARIC
Model&Al o mm mm Max Z|CH Min £|4 KN(kdf)
CAHF-08 1AHFO8 A2-6 52 76 18 210 25 26.6(2720)
CAHF-10 1AHF10 A2-8 77 85 20 254 31 333(3400)
CAHF-12 1AHF12 A2-8 91 102 24 304 55 39(3995)
CAHF-15 1AHF15 A2-11 118 106 23 381 36 47(4793)
CAHF-18 1AHF18 A2-11 118 106 23 450 36 47(4793)
CAHF-21 1AHF21 A2-15 140 106 23 530 74 60(6120)
CAHF-24 1AHF24 A2-15 165 106 23 610 94 60(6120)
Spec At S - Weight : ;
Max. static gripping force = Max.permissible speed . . GD? . X Matching Matching
N £ B gjot Huugans | WINSAAOSONAR) yorentof netia Mg o T hadw | softw
N KN(kaf) ro.mmin’) | S8 EEAEEEER) N gt ) s HEHCE | NRAEZZ
ModefAl kg
CAHF-08 58(5845) 4500 23 6.86(07) YSH - YAH-08 HJ-08T1 SJ-08T1
CAHF-10 86(8775) 4200 34.7 1285(1.31) YSH - YAH-10 HJ-10T1 SJ-10T1
CAHF-12 102(10408) 3300 557 287 3(293) YSH - YAH-12 HJ-12A1 SJ-12A1
CAHF-15 120(12236) 2500 115 87.28(89) YSH-15 HJ-15T1 SJ-15T1
CAHF-18 120(12236) 2000 159 165.73(16.9) YSH-15 HJ-15T1 SJ-15T1
CAHF-21 156(15974) 1700 235 351(35.8) YSH-15 HJ-21B1 SJ-21T1
CAHF-24 156(15974) 1400 302 651(66 4) YSH-15 HJ-21B1 SJ-21T1

16 | www _.seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

AMONHD H3Mod

14000 T 17500 T
a 12000 ! -~ ‘ a 15000 'L‘:-‘.:_ —_— "l'ilil-i_]i.
= = | = \ b
g 10000 < 1 B 12500 =N =
" —~ | CAIE-0f B = { cun
E a T t I, 10000 P AT
e [ ( AHE12 = “'\‘ K
6000 (.\Iil_-:s_:' = \\:' 7500 T '-I LR
e %) | camr| A \
4000 e 5000 ' A
S
2000 ! 2500
| |
1000 2000 3000 4000 5000 6000 ! 500 1000 1500 2000 2500 3000
T (rpm) S (rpm)
Dimension//1/ AR/ A £ B
= nemﬂ = A 5 o - G H J K L M Nmax Nmin
Model 84
CAHF-08 210 91 170 5 150 133.4 52 4-M12 15 25 417 379
CAHF-10 254 100 220 5 190 171.4 77 4-M16 17 30 545 503
CAHF-12 304 115 220 6 190 171.4 91 4-M16 18 30 62.1 56.7
CAHF-15 381 133 300 6 260 235 118 4-M20 30 43 82 767
CAHF-18 450 133 380 6 320 235 118 4-M20 30 43 82 76.7
CAHF-21 530 140 380 6 330.2 330.2 140 4-M22 34 60 985 932
CAHF-24 610 149 380 6 330.2 330.2 165 8-M22 32 60 108.4 103.2
o temy= ) :
Omax = Omin Pmax Pmin Q R S T U max \ W X Y z
Model 34l |
CAHF-08 27 10 165 -1.5 39 14 205 2 M60X20 | 4-M6 66 30 39 86
CAHF-10 3l 12 95 -10.5 44 16 27 2 M85X20 | 4-M8 94 30 45 108
CAHF-12 45 15 10 -14 50 21 28 2 M100X20 | 4-M8 108 30 51 111
CAHF-15 4375 | 1825 11 -12 62 22 39 5 M130X20 | 6-M10 139 60 70 165
CAHF-18 7825 | 1825 1 -12 62 22 39 5 M130X20 | 4-M10 139 60 70 165
CAHF-21 875 215 11 =12 65 25 39 4 M155X30 | 4-M12 170 80 73 180
CAHF-24 1175 | 215 47 24 65 25 40 4 M175X30 | 3-M12 187 80 64 180

x Rl 2 AIREZ ofluglol HAE 4 st
% Specificalions are subject 1o change without rotice.

www .seoam kr | 17



H2EZ STE Ty
GREAT BORE POWER CHUCK
REBBRTEAD-F vy 9 [ BRALHHFE

- mEZ

lor

-zt 4 .oy

or

LOdE AL

=4

I

AHONHI3 43M0d

—+ Enlargement of Through Hole - Light Weight
« Hight Performance and High Accuracy - Spindle Direct-Mounting Type

- ERRILK -BENSR - Bl BigE - 2KV FILBRE
- BAREIL -EEE -HEST, BEE - EERRA

x Ho| o S QX517 sl Hh U3l O LS FUsH0] FAUIL

X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications A&/ AL B

. SpecAly E— Thru-hole Jawstroke | o o stroke | GTiPPINg Dia(EXternal gripping) | Max. pem isible
\\\ Order NO. pinde nose (Diameter) (Diameter) Zay AE23 LA (9] Hutehmm inputforce
S < 'fo',, BEH (HH) TAERI(RZY T m 518 Al2irf

ModeRiAl FETA mm mm Max Z|CH Min &4 KN(kdf)

CGH-06 1GH06 A2-5 52 55 13 169 13 25(2550)
CGH-08 1GH08 A2-6 66 76 18 210 11 38(3900)
CGH-08B 1GH08B A2-6 72 76 18 210 1 38(3900)
CGH-10 1GH10 A2-8 82 85 20 254 31 50(5100)
CGH-12 1GH12 A2-11 103 102 24 315 45 55(5610)
CGH-21 1GH21 A2-15 166.5 106 23 530 82 90(9177)

“
. SpecAt - o Weight
N\ Max.perm 3 ble speed GD? : : : .
N Ma{(.shicgnp_mng oree e = ‘l (Wth standad soft jaws) N Matching cylinder = Matching hard jaw | Matching soft jaw
. A0 M= mjora A1 A3 M — 7™ Moment of inertia g _ -
KN(kg) rpmiminy | 38 EEAZEZEH) HgAud MRS X HEAEZR
Mode Al \\ d : kg :
CGH-06 60(6120) 6000 119 226(023) YSGH-06 HJ-06T1 SJ-06T1
CGH-08 94(9597) 5000 28 559(057) YSGH-08 HJ-08T1 SJ-08T1
CGH-08B 94(9597) 5000 23 559(057) YSGH-08 HJ-08T1 SJ-08TH1
CGH-10 120(12240) 4500 32 1283(1.31) YSGH-10 HJ-10T1 SJ-10T1
CGH-12 145(15000) 3000 48 295 YSGH-12 HJ-12T1 SJ-12T1
CGH-21 220(22 460) 1700 228 358 YSHL-21 HJ-21B1 SJ-21A1

18 | www .seoam kr



Outward Drawing/4}EUE/ AR /2 8 =

AMONHD H3Mod

Dynamic Gripping Force /a3 S H/EEHEIR DS S 7 /88 ToE Ax

2000 1 — + 3500

| " ]
1000 2000 3000 4000 5000 6000 7000 500 1000 1500 2000 2500 3000
B (rpm) B (rpm)

lemg=
A B C F H J K L M Nmax Nmin O max O min
Mo del&Al
CGH-06 175 81 140 5 104.8 52 6-M10 16 20 369 3441 21 8
CGH-08 210 91 170 5 133.4 66 6-M12 17 25 462 424 2325 1025
CGH-08B 210 91 190 5 171.4 72 6-M12 17 25 4857 | 4475 21 1
CGH-10 254 100 220 5 171.4 82 6-M16 17 30 5627 522 31 12
CGH-12 315 110 300 6 235 103 6-M20 30 30 6864 | 6354 4575 1375
CGH-21 530 140 380 6 330.2 166.5 | 6-M22 33 60 111.9 106.6 731 136
Ite m&ts
P max Pmin Q R S T U max \ W X Y z
Mo del 84|
CGH-06 12 -1 31 12 19 2 M60 %20 3-M6 66 20 335 72
CGH-08 7 =il 39 14 27 2 M75 %20 3-M6 80 30 39 95
CGH-08B 10 -8 35 14 27 2 M75 %20 3-M6 88 30 395 95
CGH-10 95 =05 44 16 27 2 M30 %20 3-M8 98 30 45 110
CGH-12 8 -16 49 21 28 25 M112x20 3-M10 124 66 513 111
CGH-21 1 -12 65 25 39 5 M180 x3.0 3-M12 196.5 80 73 180

X Xl AR ol 2el0| HEE 4 UsH
% Specificalions are subject 1o change without rotice.

www.seoam kr | 19



AHONHI3 43M0d

H2EZ STE D9 XK 223)
GREAT BORE POWER CHU CK(SHORT TAPER
ERERTE D~ F ¢ v 4 (747 A-{1) /BRALHNHE (TET)

0x
o

- DS DT - ADS MU - THAZ BE - 88 23 80|

—+ High Performance and High Accuracy -+ Spindle Direct—-Mounting Type
* Minimize changing time - Convenient Attachment Option

--StEE BIFE - 2y PUERE WEREREEE (BRETUA T ey
- M8y fRES - BERTER -BEEHTE -BTTRERE

= FHAL

% Xo| @l fHs RXIeH7| 2ol x4 L2 oy O2|A S FUst
X It is recommended to grease chucks at leas! twice a day in order to maximize longevity.

Specifications A&/ AL E

\\ Spec. At ) Thru-hole Jaw stroke Gripping Dia(External gripping) | Max. perm issible
Order NO. Sp'":g NOse ' (Diameter) (Diameter) Z;‘%eisér;g THOKH (] AT mm input force
QHHE <22 BEF (XY  TmAERIMRE) T 7 518 AR
Modeia N mm mm MaxZ|Ch Min Z|2 KN(kd)
CGHA-06 1GHA06 A2-5 52 55 13 169 13 25(2550)
CGHA-08 1GHA08 A2-6 66 76 18 210 11 38(3900)
CGHA-08B 1GHA08B A2-6 72 76 18 210 11 38(3900)
CGHA-10 1GHA10 A2-8 82 85 20 254 31 50(5100)
CGHA-12 1GHA12 A2-11 103 102 24 315 45 55(5610)
CGHA-21 1GHA21 A2-15 166.5 106 23 530 82 90(9177)
| secni Max.sidicippingforce | Max permiss ble speed v GD?
N iﬁH ggxi_l;fgm € §|‘31_ N (Wth tandad sof javs) Moment of nertia Matching cylinder | Matching hard law | Matching soft jaw
Xujote g EATS 55 XAz M25lE HEAED
i \ KN(Kkdf) rp.m(min™) H(EerEim) N (kgf.m ) Hedun 8si=% 84823
Modeld4l kg
CGHA-06 60(6120) 6000 137 245(025) YSGH-06 HJ-06T1 SJ-06T1
CGHA-08 94(9597) 5000 236 690(0.71) YSGH-08 HJ-08T1 SJ-08T1
CGHA-08B 94(9597) 5000 236 690(0.71) YSGH-08 HJ-08T1 SJ-08T1
CGHA-10 120(12240) 4500 40 1265(1.29) YSGH-10 HJ-10T1 SJ-10T1
CGHA-12 145(15000) 3000 55 295 YSGH-12 HJ-12A1 SJ-12A1
CGHA-21 220(22460) 1700 239 358 YSHL-21 HJ-21B1 SJ-21A1

20 | www seoam kr



Outward Drawing /4 EUER/ARIE /2 & =

AMONHD H3Mod

Dimension/ R~/J2&/ A+ &

Ie &S
A B C D E F G H J K L M Nmax | Nmin
Mo del34]
CGHA-06 175 91 140 82563 15 5 116 | 104.8 52 6-M10 16 20 369 34.1

CGHA-08 | 210 111 170 | 106.375| 26 5 150 | 1334 66 6-M12 21 25 462 424

CGHA-08B| 210 111 170 | 106.375| 26 5 150 | 1334 72 6-M12 21 25 4857 | 4475

CGHA-10 | 254 113 220 | 139.719 18 O 190 | 171.4 82 6-M16 24 30 5627 522

CGHA-12 | 315 126 300 | 196.869 | 34 6 260 235 103 6-M20 28 30 6864 = 6354

CGHA-21 530 174 380 285.77 40 6 330.2 | 166.5 @ 166.5| 6-M22 33 60 111.9 | 106.6

Ite m&} 5
Omax O min Pmax | P min Q R S T U max \ w X Y z

Mo del3Al

CGHA-06 21 8 12 -1 31 12 19 2 M60X2.0 3-M6 66 20 335 72
CGHA-08 | 23.25 1025 7 -1 39 14 205 2 M75X2.0 3-M6 80 30 39 95
CGHA-08B 21 11 10 -8 35 14 27 2 M75X20 3-M6 88 30 395 95
CGHA-10 31 12 95 -10.5 44 16 27 2 M90X20 3-M8 98 30 45 110
CGHA-12 45 1375 8 -16 49 21 30 25 M112X20 | 3-M10 124 66 513 111
CGHA-21 73.1 136 11 =2 65 25 39 5 M180X30 = 3-M12 | 196.5 80 73 180

x Rl HASE ofluelo] HEE 4 UsH T
% Specifications are subject 1o change without rotice.

www _seoam kr |21



SO &doco EI"?‘J-El‘I
2-JAW, 4-JAW GREAT BORE POWER CHUCK
2011 4OTABBEEIELY T —F v 94 | EBREAIFEEAT 4l

2-%, 4-% HEZR 528

CGHT/CGHF

2

-. M

olr

DHE . AES NS @AM S - SM 25 20|

AHONHI3 43M0d

-+ High Performance and High Accuracy - Spindle Direct—-Mounting Type

» Minimize changing time - Convenient Attachment Option

-- S SR -2 PLBRE (EEAEEREE - ERE ey
- By, FEEe - BETER - BEE - BTTRRE

% 2o o $HS QXIsH| st A US| 01 T2IAS FUsHo] FHAIL

X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications A&/ AL B

SpecAtef Spinde nose Th_ru_hOIe JaW stroke Plunger stroke Gripping Dia(External gripping) Maxperm issible
Order N_O. NO. (Diameter) (Diameter) Zaj AEZ23 A (2] AT ) mm _|nDutforce
s =z LSH(=Z) | FAERI(HH) mm o8 ARICE
Model&Al B mm mm MaxZ/CH Min %4 KN(kgf)
CGHT-06 1GHTO06 A2-5 52 55 13 169 13 17(1733)
CGHT/CGHF-08 | 1GHT08/1GHF08 A2-6 66 7.6 18 210 1 2325(2397)
CGHT/CGHF-10 | 1GHT10/1GHF10 A2-8 82 8.5 20 254 31 42(4282)
CGHT/CGHF-12 | 1GHT12/1GHF12 A2-11 103 10.2 24 315 45 48(4894)
CGHT/CGHF-21 | 1GHT21 /IGHF21 A2-15 1665 106 23 530 82 60(6117)
S secl » -~ Weght X
Ma"g;‘%ﬂ‘ﬂgﬂ;m MZ‘?T};;T;T“ Winsaca otaw) | S0 Matding oyinder | Matching hard jaw - Matding softaw
SUPES LE o EIN 2t x QF—J E! sic 51 AE T
N KN(Kd) rommny) | SSEEAEEER Lt ) Hedd g3i=z e
ModelgAl kg
CGHT-06 38(3875) 6000 125 023 YSGH-06 HJ-06T1 SJ-06T1
CGHT/CGHF-08 58(5955) 5000 23 057 YSGH-08 HJ-08T1 SJ-08T1
CGHT/CGHF-10 83(8463) 4500 32 1.31 YSGH-10 HJ-10T1 SJ-10T1
CGHT/CGHF-12 104(10605) 3000 59 295 YSGH-12 HJ-12T1 SJ-12A2
CGHT/CGHF-21 156(15907) 1700 235 351.2(358) YSHL-21 HJ-21B1 SJ-21A1

22 | www seoam kr



Outward Drawing/4 EUER/ AR @ & &

SERRATION PITCH 1.5.3

u v
N,

Dynamic Gripping Force/zse & 11/E800ERENS > 7 /88 Tt

14000

= 12000 |-

=
10000
£

" 8000
Ho
6000
4000

2000

e

(e 2

[
R

*, |cGuTras
hY

1000 2000 3000 4000 5000 6000 7000
#|H= (rpm)

o2 He

24000

@ 20500
o
or

17500

CGHTIF-21

"o
E 14000

10500

q

T000

3500 -

0

500

1000 1500 2000 2500 3000
B|FHS (rpm)

AMONHD H3Mod

Dimension/R~/EH/A T &

o ems
S A B C F H J K L M Nmax =~ Nmin | Omax | Omin
Modei®A
CGHT-06 175 81 140 5 104.8 52 6-M10 16 20 369 3441 21 8
CGHT/CGHF-08 210 91 170 ) 133.4 66 6/4-M12 17 25 462 424 2325 | 1025
CGHT/CGHF-10 254 100 220 5 171.4 82 6/4-M16 17 30 5639 52 31 12
CGHT/CGHF-12 315 110 300 6 235 103 | 6/4-M20 30 30 686 635 45.7 137
CGHT/CGHF-21 530 140 380 6 330.2 | 166.5 | 6/8-M22 33 60 111.9 | 1066 | 731 136
o lems
S Pmax = Pmin Q R S T U max v w X Y z
Mode®a
CGHT-06 12 -1 31 12 19 2 M60X2.0 4-M6 66 20 335 72
CGHT/CGHF-08 7 -1 39 14 27 2 M75X2.0 4-M6 80 30 39 95
CGHT/CGHF-10 95 -10.5 45 16 27 2 M90X2.0 4-M8 98 30 46 110
CGHT/CGHF-12 8 -16 49 21 28 25 M112X20 4-M10 124 66 513 111
CGHT/CGHF-21 1 -12 65 25 39 5 M175X30 4M-12 196.5 80 73 180

* Rl AR oflnglo] HEE 4 UBLIC

% Specificalions are subject 1o change without rotice.

www .seoam kr |23



AHONHI3 43M0d

— - QI I
—+ Economical Model

- RSEARET I

— - L

x 20| 92 +38

< TEEM

RAl517| ek Fa

- I3 A8

- TSR

s oy a2lAE

- Li7Y st
+ High Speed
- SR - AR - BIREER

+ Durability

-

FYstof FHMS

S8 S

+ Compatibility

X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /#F&/ R/ AL &

~ SpecAt i Gripping Dia(External grippin Max. permissible

Model &A™ ks EYpasirs FAEZI(HAmm mm Max 2 Min £/ KN(Kaf)
CAS-04 10104 - 5 15 110 6 4.4(445)
CAS-05 10105 - 5 15 135 15 64(647)
CAS-06 1AS06 A2-5 92 20 165 19 19(1938)
CAS-08 1AS08 A2-6 88 21 210 23 28(2856)
CAS-10 1AS10 A2-8 88 25 254 24 325(3315)
CAS-12 1AS12 A2-8 105 30 304 26 415(4233)
CAS-15 1AS15 A2-8,11 16 35 381 60 819(8362)
CAS-18 1AS18 A2-8,11 16 35 450 140 819(8362)
CAS-21 1AS21 A2-11,15 16 35 530 82 819(8362)
CAS-24 1AS24 A2-11,15 16 35 610 170 819(8362)
CAS-32 1AS32 - 206 38 800 211 100(10200)
CAS-40 1AS40 - 305 57 1000 330 161(16450)
CAS-50 1AS50 - 305 57 1250 330 161(16450)
CAS-63 1AS63 - 48 60 1600 - 180(18367)
CAS-80 1ASB0 - 48 60 2000 - 196(20000)

N Spec.Al2 icaropi i 5 j 2 i i . . . .
N \l\)\e ® Ma;Isff Iglg;l}goéte Mﬂ;igfn:;;eéied !ﬁ?%éﬁgg Momer?l?)f inertia PRI GOl Mali:] |ng;r::ard1aw Mimf sgﬂ an

ModeriAl ™ KN(kgf) rommin’) | AZEZESDkg | N-mkah) BECER HENEE HELESE
CAS-04 12.1(1224) 5000 4 0.196(0.02) YAS - 65 - SJ-04T2
CAS-05 17.7(1791) 5000 6 056(006) | YAS, C P,T-80 - SJ-05A1
CAS-06 63(6426) 6000 13 177(018) | YAS,C,P,T-100|  HJ-06T1 SJ-06T1
CAS-08 80(8160) 4800 25 539(055) | YAS,C P, T-125/  HJ-08T1 SJ-08T1
CAS-10 115(11730) 4100 37 1117(120) | YAS, G, P,T-125  HJ-10T1 SJ-10T1
CAS-12 156(16014) 3400 57.3 2844(290) | YAS, C.P.,T-150  HJ-12A1 SJ-12T1
CAS-15 248(25391) 3040 9% 705(72) YAS,C. P, T-200| HJ-15A3 SJ-15A3
CAS-18 248(25391) 2710 131 95(9.7) YAS,C,P,T-200| HJ-15A3 SJ-15A3
CAS-21 272(27838) 1940 198 188.2(192) | YAS,C,P.T-200|  HJ-21B1 SJ-21A1
CAS-24 272(27838) 1760 223 678(692) | YAS,C,P,T-200  HJ-21B1 SJ-21A1
CAS-32 240(24 490) 900 341 238(243) YASTL-200 HJ-32A 1 SJ-32A1
CAS-40 361(36836) 630 670 68(7.03) YAST-245 HJ-40A 1 SJ-40A1
CAS-50 361(36836) 500 800 145(14 78) YAST-245 HJ-40A 1 SJ-40A1
CAS-63 320(32653) 280 1600 500(50.97) YAST-245 - -
CAS-80 390(39800) 150 3200 - - - -

24 | www_seoam Kkr



Dy namic Gripping Force /3% £ 11/EIfVERN Y 5 7 /&

18000 x 36000 45000 Q
! S
| |
. 1 32 ' d ul
16000 ! 32000 E 10000 |- m
i . 3 | By
14000 ™ T 28000 | I 35000
[ cxsar [ ()
\ | E |
@ 12000 F— R % 1 E‘ 24000 |- t @ 30000 1 I
& o000 f—r™ s B 20000 & 25000 1
ar ar N cas2t ar [ cAsa Q
Ll casm ) N o 1 N
m ROO0 'I g E 16000 :I E 20000 —i
| iy % — N\
OO0 T : T 12000 15000 3
4000 KOO0 — L0000
A |
2000 T I 4000 S00M
LR i

1000 2000 3000 4000 50000 6000

BT (rpm)

= of

(o) ==1
=

1500 2000 2500 3000

3500 4000

BT (rpm)

1040

200

a0n

400

S04y [0

BT (rpm)

Dimension/R~/<EEK/ A+ &

L TQ% A B C F G H J K L M N max Nmin
Model®d
CAS-04 110 52 60 6 - 80 - 3-M8 165 14 26 235
CAS-05 135 52 80 7 - 100 - 3-M8 165 19 32 295
CAS-06 169 74 140 5 116 104.8 23 6-M10 14 20 4 36.7
CAS-08 210 85 170 5 150 133.4 28 6-M12 15 25 463 419
CAS-10 254 89 220 5 190 171.4 34 6-M16 18 30 511 467
CAS-12 304 106 220 6 190 171.4 39 6-M16 18 30 61 557
CAS-15 381 114 300 6 260 235 27 6-M20 20 43 73 65
CAS-18 450 114 300 6 260 235 27 6-M20 20 43 106.5 985
CAS-21 530 125 380 6 330 330.2 27 6-M22 26 60 86 78
CAS-24 610 125 380 6 330 330.2 27 6-M22 26 60 124.5 116.5
CAS-32 800 150 380 6 - 3302 - 6-M24 31 762 88 777
CAS-40 1000 180 520 8 - 510 - 6-M24 34 100 145 129.8
CAS-50 1250 180 520 8 - 453.6 - 6-M24 32 100 145 129.8
CAS-63 1600 220 720 8 - 648 - 6-M30 46 - - -
CAS-80 2000 250 720 10 - 1120 - 6-M30 58 152.4 - -
\\\\”\ejg% Omax = Omn | Pmax = Pmin Q R S T u v w X Y z
Model 84
CAS-04 10 7 5 -10 25 10 25 3 M10X1.5 - 25 - 27 54
CAS-05 115 7 9 -6 25 10 36 3 M12X1.75 - 28 - 27 585
CAS-06 13 7 101.5 | 815 31 12 36 4 M16X20 3-M6 32 32 35 72
CAS-08 225 ¢ 127 106 39 14 36 S M20X25 3-M6 38 38 43 g9
CAS-10 307 | 112 158 133 44 16 36 5 M20X25 3-M8 38 44 50 110
CAS-12 487 | 127 163 133 50 18 36 5 M20X25 3-M8 38 50 54 111
CAS-15 547 | 157 104 69 50 255 55 6 M30X35 | 3-M10 55 60 60 135
CAS-18 485 | 232 92 57 50 255 55 6 M30X35 | 3-M10 55 60 603 135
CAS-21 935 | 275 97 62 65 25 55 6 M30X35 | 3-M12 55 60 71 180
CAS-24 935 | 275 97 62 65 25 55 6 M30X35 | 3-M12 55 60 71 180
CAS-32 - - 35 -3 75 255 60 8 M30X35 - 55 114 83 165
CAS-40 - - 53 -3 98 30 65 -4 M36X4.0 - 60 - 106 200
CAS-50 - - 35 -22 98 30 68 -4 M36X4.0 - 60 - 106 200
CAS-63 - - 13 -47 - - - - M36X4.0 - - - - -
CAS-80 - - 23 -37 110 30 68 -4 M42X4.5 - 66 - 105 270
% CAS-322IXI0| 42 Soft JawrlZE 7t Key Type RLIC ¥ Xl 2 A2 ool HEE 4 AUsch

% Soft jaw for lager size than CAS-32 : Key Mount Type. % Specificalions are subject 1o change without rotice.

www _seoam kr |25



AHONHI3 43M0d

% Aol o 432

AX —
&3

=
LOSE

o |

T}9) 2H(OFE Ef

2ars)

CENTER POWER CHUCK(SHORT TAPER)
!

D
BHRREA D -F vy 9 (77 4-11) /PEHHFE GEHE)

FAlB7| floh xlA Y23 oly a2lAE
X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /A& /R AL E

FYstof FHMS

- BHNZ BE

-« Spindle Direct—Mounrting Type
- High Performance and High Quality - Convenient Attachment Option

- 2LV PIEER - VEX BRATHE
- -BETEN HEHE

CIN5 - 0E

* Minimize ¢

- BEE,

= O
ElLEl

MR, BB - BTRRER

s
3 -guRy

hanging time

80|

TP O Y

SpecAle : Jaw stroke Grioping Dia(External gripping) | Max.permissible
N OrderNo, | PInqenose (Diameter) Zﬁeﬂg‘; THor(el ZThmm nput force
HE ~oz] TAERI(RY) T 58 M
Model&A! v mm mm Max Z|cH Min Z[& KN(kgf)
CASA-06 1ASA06 A2-5 92 20 165 19 19(1938)
CASA-08 1ASA08 A2-6 88 21 210 23 28(2856)
CASA-10 1ASA10 A2-8 88 25 254 24 325(3315)
CASA-12 1ASA12 A2-8 105 30 304 26 415(4233)
CASA-15 1ASA15 A2-11 16 35 381 60 81.9(8362)
CASA-18 1ASA18 A2-11 16 85 450 140 81.9(8362)
CASA-21 1ASA21 A2-11,15 16 35 530 82 81.9(8362)
CASA-24 1ASA24 A2-11,15 16 35 610 170 819(8362)
N\ S22 | et ring bt | Maxpermissb ised Weaht 2 . : i
a);ISEH Sgg’[‘l*ug}r:’g‘a;w a;IDfer;sgilx:Te (Wth stndard ot javs) GD* ' \atching oylinder Matching rard jaw Va:c.hng
[LES 4 : .__‘—r X3} (EEATE FEE) Moment of inertia xMEARIH N2 soft jaw
— KN(kgf) rp.m(min”') - Nem (kgf.m) MRAEZR
CASA-06 63(6426) 6000 14 1.96(0.20) YAS, C, P, T-100 HJ-06T1 SJ-06T1
CASA-08 80(8160) 4800 27 5.79(059) YAS, C, P, T-125 HJ-08T1 SJ-08T1
CASA-10 115(11730) 4100 40 1284(1.31) YAS, C, P, T-125 HJ-10T1 SJ-10T1
CASA-12 156(16014) 3400 66 2952(301) YAS, C, P. T- 150 HJ-12A1 SJ-12A2
CASA-15 248(35391) 3040 96 705(7.2) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CASA-18 248(35391) 2710 131 95(9.7) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CASA-21 272(27838) 1940 198 188.2(19.2) YAS, C, P, T-200 HJ-21B1 SJ-21A1
CASA-24 272(27838) 1760 223 67.8(692) YAS, C, P, T-200 HJ-21B1 SJ-21A1

26 | www seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

Dimension/R~/<J#&/ A+ &

_|SERRATION PITCH 3

LM

o]

oW

N

#H
DA

\\\ I et
\\ A B C D E F G H J K L M N max N min
Mo delAl
CASA-06 169 84 140 82563 15 5 116 104.8 23 6-M10 14 20 41 36.7
CASA-08 210 97 170 | 106.375 17 5 150 | 1334 28 6-M12 18 25 463 419
CASA-10 254 102 220 139.719 18 5 190 171.4 34 6-M16 25 30 511 467
CASA-12 304 118 220 | 139.719| 18 6 190 | 1714 39 6-M16 25 30 61 55.7
CASA-15 381 130 300 196.869 22 6 260 235 27 6-M20 23 43 73 65
CASA-18 450 130 300 | 196.869 22 6 260 235 27 6-M20 23 43 106.5 985
CASA-21 530 146 380 196.869 27 6 330.2 | 330.2 27 6-M22 28 60 86 78
CASA-24 610 146 380 | 196.869 27 6 330.2 | 330.2 27 6-M22 28 60 124.5 117
\\\ Ite &2
AN Omax = O min Pmax = P min Q R S T u Y W X Y z
ModelEAl
CASA-06 13 7 865 665 31 12 36 4 M16X2.0 3-M6 32 32 35 72
CASA-08 225 9 110 89 39 14 36 5) M20X2 5 3-M6 38 38 43 95
CASA-10 307 112 140 115 44 16 36 5 M20X2 5 3-M8 38 44 50 110
CASA-12 487 127 145 115 50 18 36 5) M20X2 5 3-M8 38 50 54 111
CASA-15 547 157 82 47 50 255 55 5 M30X35 3-M10 55 60 60 135
CASA-18 | 485 232 70 85 50 255 55 5] M30X35 | 3-M10 65 60 603 135
CASA-21 935 275 70 35 65 25 55 6 M30X35 3-M12 55 60 71 180
CASA-24 935 275 70 85 65 25 55 6 M30X35 | 3-M12 55 60 71 180

x Al 2 Ao

% Specifications are subject lo change without rotice.

oflnglo] HEE 4~ UGLIC,

www _seoam kr |27

AMONHD H3Mod



TLEAHE O E
_(ZLOS CENTER COMBINATION CHUCK(HydraulicHndependent)
T BEFRENT -F v v 5 (TE7 4-1) / PEHHFEGIER)
(@)}
=
mi
e
(@)
T
cC
(@)
8 -~ OIMERE - DASH A - T EE . S8 B
-« Fine control type - High Speed » Durability - Compatibility
- AR - SRR - WAMEER - BERER
- WEERE < EER - TR ¥ Sl

23S KI5 Pl A

* =9 @l 23| Ol T2|A S S0 AL
X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/#F&/ IR/ AL E

~ SpecC.AK Jaw stroke Gripping Dia(External gripping) Max. perm issible
Order NO. Spinde nose NO. (Diameter) Egﬁeisgoikg IHA (2] Zutehmm inputforce
AN oM ==a7 TAERI(EY) | =TT o8 AZICE
Modes Ul Max Zch Min 24 KN(kg)
CAS-24HC 1AS24HC - 12+(20) 35 610 140 113(11505)
CAS-32HC 1AS32HC = 30+(30) 38 800 296 119(12232)
CAS-40HC 1AS40HC - 46+(30) 57 1000 187 161(16450)
CAS-50HC 1AS50HC - 46+(30) 57 1250 187 180(18367)
CAS-55HC 1AS55HC - 46+(30) 60 1400 283 200(20398)
CAS-63HC 1AS63HC - 48+(40) 60 1600 320 196(20000)
\\ Spec.AY Max.s &ic grioping force Maxpermissible Weight GD? Matchin
N \ S @l aripoing speed (Wth stendard sot javs) _ Matching oylinder | Matching hard jaw fing
AN Ao M uiery . _ Moment of inertia _ soft jaw
N KN(Kg) A8 NS | BY(EEAZE RER) N-r (kaf. ) Hg4zg HESIER Mg AETE
ModeAl \\ rp.m(min") kg ' et
CAS-24HC 193(19632) 1200 320 456(46.5) YAST-200 HJ-32A1 SJ-32A1
CAS-32HC 214(21916) 800 350 601.9(61) YASTL-200 HJ-32A1 SJ-32A1
CAS-40HC 320(32653) 630 670 1721.8(1745) YAST-250S HJ-40A2 SJ-40A2
CAS-50HC 320(32653) 500 800 2169(220) YAST-250S HJ-40A2 SJ-40A2
CAS-55HC 359(36710) 450 1280 2760(280) YAST-250S HJ-40A2 SJ-40A2
CAS-63HC 358(36600) 400 1900 4930(500) YAST-250S HJ-40A2 SJ-40A2

28 | www .seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

oA
gC
H

170{256)

Dynamic Gripping Force/Zs= 5 /E8HERHS o 7 /eX 0tk

36000

Irua-nu('
32000
%
£000
24000 5
CAS-MNC \
— \
% 20000f— b
T
% 16000 ﬁ\
g\\ H\”
12000 \\ “‘\,c..aw.-.-r.
ALy
4000 }— —
8 |
500 1000 1500
H TS (rpm)

Dimension/)R~H/T&& /X 4+ &

37000

E 30000

Illj 25000
&

ﬁ; 20000

15000
10000
5000

0

CAS55HC

N

100 200

300

400 500
3= (rpm)

600

r;a;g\ﬁa \'”\"‘g\% A B c : G H J K L M Nmax = Nmin
CAS-24HC | 610 | 150 | 380 6 - | 8302 | - 6-M24 - 762 144 112
CAS-32HC | 800 | 150 | 380 6 - | ss02| - 6-M24 30 762 172 | 1255
CAS-40HC | 1000 | 180 | 520 8 - | 4636 | - 6-M24 32 152.4 207 154
CAS-50HC | 1250 | 180 | 520 8 - | 4636 | - 6-M24 32 152.4 207 154
CAS-55HC | 1400 | 180 | 720 8 - | 6476 | - 9-M30 | 50 152.4 207 154
CAS-63HC | 1600 | 240 | 1020 8 - 956 - 9-M30 | 50 152.4 251 227
h;o\d\el\gf; "f"@% Omax Omn Pmax Pmn  Q R s T u v w X Y z
CAS-24HC | - - 35 0 | 75 | 127 | 55 | 11 | M3X35 & - | 52 - 8 | 165
CAS-32HC | - - 3% | 3 75 255 65 11 | M30X385 = - | 55 114 83 | 165
CAS-40HC | - - 3 | -25 110 | 30 | 68 0 | M36X40 - | 60 - 110 | 270
CAS-50HC | - = 3 | 25 110 30 | 68 -4 | M36x40 - | 60 - 106 270
CAS-55HC | - - 3 | -25 110 | 30 | 68 | -4 | M36x40 = - | 60 - 106 | 270
CAS-63HC | - - 67 7 110 | 30 | 68 -6  M3XO0 - | 60 - | 104 | 270

X Xl 2 ARSE of|2elo] HAEE 4 UG
% Specificalions are subject 1o change without rotice.

www.seoam kr | 29

AMONHD H3Mod



AHONHI3 43M0d

X )d__l QEH

HS FAlst7] flall =

% I is recommended to grease chucks atl least twice a day in order to maximize longevity.

Specifications /A& /R AL E

'%‘ It¢ #(Direct Mount type)

CENTER POWER CHUCK (Direct Mount type)
'/\"7 Frya | pLFHHFE

203 ol J2lAE FYUsto]

- ZrHel e . uSStAS - UFE EE - SEY ER

—+ Economical Model -High Speed -Durability -+ Compatibility
- RRETL - ERER - TAMHER - EHERER

-« 2558 - R - T BEHR - M

FHAL

Spec/\i‘?:f order NB. Spinde nose NO, Jag ir;kieggn;er) ;;%ezgo?g Grippj_:& Eé;e:(g If%;r}r;l) rﬁ ;poing) ,“,ff,ﬁt ?f,",f‘eifg"ge
26us FaTA mm mm ) i AlziTi2{ KN(Kgf)

Model& 4! Max Z|CH Min &[4
CAS-15A8 1AS15A8 A2-8 186 35 381 60 735(7438)
CAS-15A11 1AS15A11 A2-11 186 35 381 60 735(7438)
CAS-18 A8 1AS18A8 A2-8 186 35 457 60 735(7438)
CAS-18 A11 1AS18A11 A2-11 186 35 457 60 735(7438)
CAS-21 A11 1AS21A11 A2-11 186 35 530 110 98.1(9927)
CAS-21 A15 1AS21A15 A2-15 186 35 530 110 98.1(9927)
CAS-24 A11 1AS24A11 A2-11 186 35 610 110 98.1(9927)
CAS-24 A15 1AS24A15 A2-15 186 35 610 110 98.1(9927)

Spec. A o . o ) 2

Moderie] KN(kgf) rp.m(min”") ka N (kof ) © © et =
CAS-15A8 147(14876) 2100 98 696(7.12) YAS, C, P, T-200 HJ-15A1 SJ-15A2
CAS-15A11 147(14876) 2100 98 698(7.12) YAS, C, P, T-200 HJ-15A1 SJ-15A2
CAS-18 A8 147(14876) 1700 132 135.32(138) YAS, C, P, T-200 HJ-15A1 SJ-15A2
CAS-18 A1 147(14876) 1700 132 135.32(138) | YAS, C, P, T-200 HJ-15A1 SJ-15A2
CAS-21 A1 194(19632) 1500 195 268.68(274) | YAS, C, P, T-200 - SJ-21A2
CAS-21 A15 194(19632) 1500 195 268.68(27.4) YAS, C, P, T-200 = SJ-21A2
CAS-24 A11 194(19632) 1200 250 456.2(4652) | YAS, C, P, T-200 - SJ-21A2
CAS-24 A15 194(19632) 1200 250 456.2(4652) | YAS, C, P, T-200 = SJ-21A2

30 | www.seoam kr



Outward Drawing/ 4} BB/ /21 8 &

Al E_._ /: i.‘"’._l'!i\l '._'-'] IJI!"H 3 §

20000 m

EPN | 2

w [ \ casai | Q

i or I . dC

| H: 1000 AN cC

Ez (@]

zli A

CAS-15 |

0 1000 2000 3000

! E|H= (rpm)
8
(CAS—15, 18, 21, 24)
Dimension/ R~/ &/ A+
o emys
A B © D E F G H J K(ANSI) K(JIS) = L(ANS)

Modei®4
CAS-15A8 381 125 225 139.714 20 2421 | 85725 | 17145 8 5/8-11UNC | 6-M16 24
CAS-15A11 | 381 125 280 196.864 20 2936 | 1175 235 10 | 3/4-10UNC | 6-M20 23
CAS-18 A8 457 125 225 139.714 20 2421 | 85725 | 17145 8 5/8-11UNC | 6-M16 24
CAS-18A11 | 457 125 280 196.864 20 2936 | 1175 235 10 | 3/4-10UNC | 6-M20 23

CAS-21 A1t 530 140 280 196.864 20 2936 117.5 235 10 3/4-10UNC | 6-M20 334
CAS-21 A15 530 140 380 285.763 22 3571 165.1 3302 | 10 7/8-9UNC 6-M22 354
CAS-24 A1 610 140 280 196.864 20 2936 117.5 235 10 3/4-10UNC | 6-M20 334

CAS-24 A15 610 140 380 285.763 22 3571 165.1 3302 | 10 7/8-9UNC 6-M22 354

\\ - lemgs

S LUIS) N max N min 0 max O min P max P min S T u X
Model Al

CAS-15A8 225 745 652 545 215 35 0 50 175 M27X3.0 63
CAS-15A11 26 745 652 545 215 35 0 50 175 M27X30 63
CAS-18 A8 225 745 652 905 215 35 0 50 175 M27X3.0 63
CAS-18 A11 26 745 652 905 215 35 0 50 175 M27X3.0 63
CAS-21 A11 31 101.5 922 100.5 215 35 0 55 220 M30X35 75
CAS-21 A15 32 101.5 922 100.5 215 35 0 55 220 M30X35 73
CAS-24 A11 31 101.5 922 136.5 215 35 0 55 220 M30X35 75
CAS-24 A15 32 101.5 922 136.5 215 35 0 55 220 M30X35 75

% ZK o A2 oflnglol B 4 Uit

% Specificalions are subject 1o change without rotice.

www .seoam kr |31



2-ZF DASAS DX
2-JAW CLOSED CENTER POWER CHUCK
22 BRPREN D -F v v 4 [ PEFNFHHFEEM

- OlEBEE met - 1Y

ol

olr

LOdE - SEHM St

fol

]

AHONHI3 43M0d

—+ Clamping of Irregular Work
+ High Performance and High Accuracy -+Compatibility

-- FRTRHPOR - SteE BiEE - 20 FLERE
- SEEMNTH -8y WEES - BETRR

Dynamic Gripping Force SiEE a7 7/5%

g 12000
= —
g 10000 L‘mlz SN E—
" B
B 8000 I
CASTI0 i
¢ 6000 |t
3 castas ||
1} 4000 S—
Jesa
2000
1000 2000 3000 4000 S000 6000
TS (rpm)
x =o| ool £HS RX[6h7| fUsh &4 23| O O2|A S FUSHH FHAIL
X It is recommended to grease chucks at least twice a day in order to maximize longevity.
Specifications /A& /M AFS B
o SoecAy : Jaw stroke Plunger stroke Gripping Dia(External gripping) | Max. permissible
Oédé:\g. Spmii;;? NO. (Diameter) Z3M AER3 ot (2] it mm input force /518
Moderg4l - N F AE2A(NZ)mm mm Max/CH Min £14 ABICIY KN(Kgf)
CAST-06 1ASTO6 A2-5 92 20 165 19 126(1279)
CAST-08 1ASTO8 A2-6 88 21 210 23 186(1885)
CAST-10 1AST10 A2-8 88 25 254 24 216(2187)
CAST-12 1AST12 A2-8 105 30 304 26 27.6(2793)
Spec At | Max.sttic grippingforce | Maxpermissible speed | Weigt Wih siandardsoft aws) GD? ) ) ) :
\ g Aol 43 ABNN4 B8 (ESLIEEEM)  Momentofnemia | VAITWBOnGer | MEGTS L ar
Model& Al KN(kgf) rp.m(min™") kg N-r (kgf.) o= e
CAST-06 419(4241) 4300 125 167(0.17) YAS, C, P, T-100 SJ-06T1
CAST-08 532(5385) 3600 24 520(053) YAS, C P, T-125 SJ-08T1
CAST-10 765(7742) 3100 355 11.47(1.17) YAS, C, P, T-125 SJ-10T1
CAST-12 104.4(10569) 2500 605 27.75(283) YAS, C, P, T-150 SJ-12A2
Dimension/R~F/~#E /A + &
wotd™ Al B C|Fl6| H| J| K| L| M NnaNmn OmaOmn PmaxPm @ R S| T Umax V| w| X|Y|z
CAST-06/ 169| 74 1140 | 5 116|104.8 23 |6-M10| 14 | 20 | 41 367 13| 7 | 101.5815 31| 12 36| 4 | MI6X20/ 3-M6| 32 | 32| 36| 72
CAST-08 210 85 | 170 | 5 | 150 1334/ 28 6-Mi2 15| 25 463 419225 9 | 127 106 39 | 14| 36| 5  M20X253-M6 38 38| 43 95
CAST-10) 254| 89 1220 | 5 190 |171.4 34 |6-Mi6| 18 | 30 |51.1 467307 112 158|133 44| 16| 36 | 5 | M20X25/3-M8 38 | 44| 50 110
CAST-12| 304 106220 | 6 | 190 171.4/ 39 6-Mi6 18 | 30 | 61 557 487 127 163 133 50| 18 36| 5 A M20X253-M8 38 | 50| 54 111

32 | www.seoam kr



CASF/HC

4-

pihd

-Z DASHE DY

4-JAW CLOSED CENTER COMBINATION CHUCK(HYDRAULICHNDEPENDENT)

—+ Clamping of Irregular Work
+ High Performance and High Accuracy

-- FRTIRPER - St SEE
- SEETATH - MedT fRES

42 BRAERN T -F v v 4 [/ DTN T4
- O|HZEIE met .- TAS, THE

Dynamic Grippirg Force/se SRR N7 7 5%

37000 —
g 30000
=
1 25000
=]
o
ﬁ 20000
.\
15000 : 3
CASFESIIC A
10000
5000
i
I
100 200 300 400 500 650
S (rpm)

Specifications /4F&/ TR/ AL &

 SoecAly : Jaw stroke Plunger stroke Gripping Dia(External gripping) | Max. permissible
Og’é;'g' Sp'"igﬂt)s,f N Dbmeter) | =M AEz3 THer3(2l Zuteimm input force /518
ModeBAl = o ZAEZI(XA)mm mm Max Z[CH Min Zl4 A2IHE KN(kgf)
CASF-40HC 1ASF40HC - 46+(30) 57 1000 187 161(16450)
CASF-50HC 1ASF50HC = 46+(30) 57 1250 187 180(18367)
CASF-63HC 1ASF63HC - 48+(40) 60 1600 320 196(20000)
\Sp eCANY | \ax. static gripping force| Max permissible speed| Wegt Wit sencardsof aws) GD? Matching cylinder | Matching hard jaw  Matching soft jaw
. A of M mpota A1 AE3HL | B (ETAZE 3XE) Momentof inertia HgAR G HEHC X NRAE TE
Model®Al KN(kaf) rp.m(min’) kg N (kgf. ) Tess o= Tete=
CASF-40HC 320(32653) 630 710 1721.8(174.5) YAST-245 HJ-40A2 SJ-40A2
CASF-50HC 320(32653) 500 860 2169(220) YAST-250S HJ-40A2 SJ-40A2
CASF-63HC 358(36600) 400 1960 4930(500) YAST-250S HJ-40A2 SJ-40A2

Dimension/R~/J#&/ A+ &

T —_ llemg2

vt A B C | F| H J K L| M NmxNm onx Omn Pmax Pmn Q | R | S | T Uu W X Y z

CASF-40HC| 1000/ 180 520| 8 4636 | - | 6-M24| 32| 762 | 207 | 154 | - | - | 35 | =25/ 110 | 30 | 68 | 0 |M36x40/ 60 - | 110] 270

CASF-50HC| 1250/ 180 520| 8 4636 | - 8-M24| 32| 762 | 207 | 154 | - | - | 35 | =25 110 | 30 | 68 | -4 |M36x40 60 - | 106| 270

CASF-63HC | 1600 240 1020 8 | 956 | - |9-M30| 50| 762 | 251 | 27| - | - | 67 | 7 | 110 | 30 | 68 | -6 M36x40 60 - | 104| 270
X x4 2 AR o1l 0]

% Specificalions are subject

WWwWw

ZE £ UsHch
lo change without rotice.

.seoam kr |33

AMONHD H3Mod



-z EER IR A
3-JAW DRAW DOWN CHUCK
3MFo -4y Fvvs /BRI A= TG HEE

C11MB-C13M

- obYEl mot . cCiEN 8%
- CHMBEI2 X9/ 922 motsis TR0, CI3V 2 U2g Totsls AR

AHONHI3 43M0d

— - Stable Clamping - Multiple Utilities
« C1IMB chuck is to clamp outer diameter of work piece, and C13M chuck is to clamp inner diameter,

- EEWHE -AR5Z
- CHMBEA Tx THIHENRE, C1oMFEMA Tt TH MiEMRE.

- 2eRI0E - TEORHEE
« C1IMB F ¢ o 2 TANOAEXIEIET ZBET, C1IMF v 9 2UNEP RS AEECT

o'A"

% o] O 4SS RAI517| YUsH Eh US| OKY T2AE UL FUAIR
X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /#F&/ R/ AL E

\ 9 - Gripping Dia(External grippin Max. permissible
ModeIA \ Max Z|c Min {2 KN(kaf)
C11MB-04 11904 5 7 110 18 59(601.8)
C11MB-05 11905 5 7 130 25 98(9996)
C11MB-06 11906 72 10 165 35 14.7(1499)
C11MB-08 11908 72 10 210 40 245(2499)
C11MB-10 11910 108 15 254 50 34.3(3499)
C11MB-12 11912 108 15 304 50 44.1(4498)
 SpecAly o o o . )
\\N\\\ Ma; ;Imggpr?}lggme Ma;bg T;S;It;e?; fed g(ggiﬁd:’;ﬁ Momer?l gf inertia Maggz ;j ::i;\der Mzgf; oEf;aw
Model Al \\\ KN (kgaf) rp.m(min~) kg N (kaf.m)
C11MB-04 \ 103(1051) 7000 45 0.312(0.032) YAS, C, P, T-65 SJ-04D1
C11MB-05 168(1714) 6000 73 0.704(0.072) YAS, C, P, T-80 SJ-04D1
C11MB-06 247(2519) 6000 138 1.764(0.18) YAS, C, P, T-100 SJ-06D1
C11MB-08 44.1(4498) 5000 27 6.64(0.68) YAS, C, P, T-125 SJ-08D1
C11MB-10 588(5998) 4200 458 14908(152) YAS, C, P, T-150 SJ-10D1
C11MB-12 735(7497) 3300 68 31.388(320) YAS, C, P, T-150 SJ-12D1

34 | www_seoam Kkr



Dimension/R~/<EEK/ A+ &

Outward Drawing/4} EUER/ARIEY @ & =

<C11MB-04, 05>

aC
oW

N

]
-

oH
@A

H
- [ L]

-

|

<C11MB-06,08,10,12>

Dynamic Gripping Force /zZ3£ £ 1 /@HIEB - 2 7 /sX oot M

ey

] T

N

cuMBm] T

T |
|

ECIIM

—_— |

]

— T |

o

SO0 1000 1500 2000 2500 3000 3500 4000

#|H 4 (rpm)

5

6=23

C1IMB—06,08,10,12

11IMB—04,05,06

o rem3s
A B (o] F G H K L N max N min P max P min
Model®4
C11MB-04 110 60 60 5 98 80 3-M8 14 37 345 19 12
C11MB-05 130 70 80 5 118 100 3-M8 9 44 415 19 12
C11MB-06 165 85 140 5 - 104.77 6-M10 1 58 544 33 23
C11MB-08 210 95 190 5 = 133.35 6-M12 23 7 674 38 28
C11MB-10 254 110 230 5 - 171.45 6-M12 22 85 796 47 32
C11MB-12 304 125 230 5 = 171.45 6-M16 27 102 96.6 47 32
o remus
S Q S T max T min U W X Y max Y min Z1 Z2 Z3
Model®4l
C11MB-04 25 20 105 35 M10X1.5 25 28 30 23 25 - M6XDP11
C11MB-05 30 25 105 B85 M12X1.75 28 30 85 28 30 = M6XDP11
C11MB-06 35 36 14 4 M16X20 32 35 45 35 35 20 M8XDP13
C11MB-08 40 36 14 4 M20X2.5 38 42 55 45 45 25 M8XDP13
C11MB-10 50 46 19 4 M24X30 50 52 65 50 55 30 M10XDP17
C11MB-12 60 50 19 4 M27X30 52 55 75 55 70 35 M10XDP17

% Rla= AR ofl2elo]
% Specificalions are subject 1o change without rotice.

A~
pzE 4+ o

www .seoam kr |35

S T

AMONHD H3Mod



AHONHI3 43M0d

C63M-C64M

HEEEE

=
A

SWING LOCK CHUCK
SRS F v v o [ BHUEFE

- %'%‘J]ﬁi

t245t mhoted

R

-« BRVEIR S
- BhEEMAEIES

- Hlo|m% met

¥ -EDF-

-+ C63M : 3 JAW Type, C64M : 2 JAW Type

-« Strong Gripping Force
- Swing Type Jaw
+ C63M : 3 JAW Type, C64M : 2 JAW Type

- eSS

*Clamping Taper Pa

rt

» Excellent Dust-proof Performance

- B

- C63M : =/, C64M - /&L

o T —/NEYEHE

- SEHEIDIT

+ CB3M : 3 JAW Type, C64M : 2 JAW Type

43 4E

Dynamic Gripping ForceEES &M £% 177 7/58193

55 Tofed (ke
g &
T
7
4

CHiMO

500 1000 1500 2000 2500 3000 3500 4000
E|F (rpm)

2t

% =o| @elfl £HS RXIGH7| ol ElA L23| Ol a2|AS FUSHH FHAIR
X It is recommended to grease chucks al least twice a day in order to maximize longevity.

Specifications /AF&/ R/ AL B

\\\\spem}g G JawstrokeDiameter) | Plunger stroke Gripping Dia(External gripping) Max. permissible
s & AERI (HF) Zay AEZ3 torg(e| Zutemm input force /318
ModeRi4l mm mm Max Z(ch Min &2 A2 KN(kaf)
C63M-06 1C6306 74 114 120.0 12 21.6(2200)
C63M-08 1C6308 92 144 150.0 16 28.4(2900)
C63M-10 1C6310 18 175 205.0 50 35.3(3600)
© SpecAl o " . . .
ModeBAl KN(kgf) rp.m(min’) kg Nt (kaf.m) e
C63M-06 647 (6600) 3800 14 049(005) YAS, C, P, T-100
C63M-08 853(8700) 3000 23 108(0.11) YAS, C, P, T-125
C63M-10 106(10800) 2500 40 264(027) YAS, C, P, T-150
| Dimension/R/$#gEA4E
i B B Cc D E F G Hn | Hout = J K L 0 | Pmn Pmax
C63VM-06 | 162 | 842 | 193 | 1035 203 - 13017 225  7315| 8256 | M16 | 3-M10| 381 | 54 | 167
C63V-08 | 200 | 100.1 | 233 | 1234 | 2535 - | 3176 | 2535| 8895 106.37 M16 3-M12 444 3 | 173
C63M-10 | 254 | 1185 291 | 1476 30 - | 4129 | 303 | 1127 | 1397 | M18 | 3-M16| 571 | 27 | 202

X Al U A2 olnglo] HHE 4 gLt

% Specificalions are subject to change without rotice.

36 | www.seoam kr



SeOAM

MACHINERY INDUSTRY



seOAMm
HYDRAULIC CYLINDER

2 HE2 RY MCIS JHUED LT AZE BXE 7ls21 BYYE o=
D4 ST, AS ZYE U AU MBS CRYSH A 20| U &S 4 U= XS0
MHIAZ HB5l0f S22 of sizBLIC

M7 BAFAIBIA “2n0 A"} "1 HUS"S KRBT

We will make a great effort to get customers satistaction with self—confidence of the best.
Having accumulated technologies by developing own hydraulic cylinder series for the first
time in Korea and continuous improvement efforts, the SEOAM promises to provide world
top class quality products and reliable services with various hydraulic cylinder series directed
to realizing high rotating speed, compact and slim design with light weight.

SEOAM Machinery is proud of the highest quality and precision products.



BIG BORE
HYDRAULIC CYLINDER

40P

YSH

_l_J_—'—

szeay Ma

SUPER HIGH SPEED BIG BORE
HYDRAULIC CYLINDER

42pP

YSGH

zn& SZEES
s eaziy
SUPER HIGH SPEED

GREAT BORE
HYDRAULIC CYLINDER

44P

YSHL

Long Stroke)
274 ZTAAIS
s S

SUPER HIGH SPEED
GREATBORE
HYDRAULIC CYLINDER

46P

CA

Seie Zay
COOLANT COLLECTOR

47pP

YAS

TAZAIS

s|Sorelry

CLOSED CENTER
HYDRAULIC CYLINDER

48P

YASC

(Check Valve type)
_Tlﬁ\_%)kl—q
3K AR
CLOSED CENTER
HYDRAULIC CYLINDER

49P

YASP

(Proximity Switch Mountable type)
nEE AL

slFiS ey
CLOSED CENTER
HYDRAULIC CYLINDER

50P

YAST

(Check Valve+Proximity Switch Type)
J—l_/.\_glkl—d
3|xSotAlalr
CLOSED CENTER
HYDRAULIC CYLINDER

52P

YMS

(Proximity Switch Type)
naEA
arsl iy
CLOSED CENTER
HYDRAULIC CYLINDER

54P

YTRC

TAZAIE 3RS0
F+8, B)E!'W:'— HEYY)

POWER CYLINDER WITH
THROUGH HOLE

S55P



I
_<
o
e
>
cC
C
(@]
)]
<
C
Z
O
m
X1

% 518 FI BiN4 =t ARX|of e

D453 HHgYNHY
BIG BORE HYDRAULIC CYLINDER
B AEHIHAY | v & - / KRBFLEE I

HaE . R4HZ0| 80|
- S QUIR| MA(S5SE : 0172805)

rre

- EL

—- Safety Guaranteed - Easy Repair & Check
- Leakage Prevention Design(Patent Registation:0172805)
* Highest Draw Pull

- REHER - FHEIENEH
OREDUSETETEER - B0 2BNHED
- R - (EThNFoLHS

- Pttt GERIEMR 0172800 - FJJEEX

<YAH-05>

¥ Maximum turning speed is based onactual measurment

Specifications /#F&/ R/ AL &

M\;\\specA}% Order NO. Cylinder Dia Piston stroke | Thru hole Dia Piston surface area Max. Draw bar pull
ors ARICIZ | HAEAEZ3  ANUGBEZ T AE EHEA o 2EH 3 KN(kah)
ModeR§A i i () Push2% Pull Q1= Push2t% Pull Q1=
YAH-05 2AH05 97 12 33 579 613 21.8(2225) 206(2103)
YAH-06N 2AHOBN 125 15 46 895 101.5 353(3602) | 31.08(3169)
YAH-08 2AH08 160 20 52 172.8 162.6 65.0(6627) 61.2(6236)
YAH-10 2AH10 185 25 77 2133 197.9 80.2(8180) 745(7590)
YGH-10 2GH10 185 25 82 205.1 190.2 77.2(7866) 716(7295)
YAH-12 2AH12 205 30 91 251.5 235.0 94.6(9646) 884(9013)
‘\\\;\\\\\S\De(zAl‘é Max.operatingpressure Ma>_<pern'ss§)le speed Total leakage Weight GDZ. . Matching chuck
DAL RS k<] Ai%fl ’._‘i¢ %EHI?_J 2f = Moment of inertia =25
ModeBiAl Mpalkgf/cr) r.pom(min™'") £/min kg N-w (kgf.m)
YAH-05 408 8000 30 692 031(0032) CAH-05
YAH-06N 408 7000 30 120 0.74(0.074) CAH-06
YAH-08 408 6200 35 155 1.96(0.20) CAH-08
YAH-10 408 4700 42 230 343(0.35) CAH-10
YGH-10 408 4500 45 292 480(049) CGH-10
YAH-12 408 3800 45 310 569(058) CAH-12

40 | www .seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

<YAH-06N, 08, 10, 12/ YGH-10>

Dimension//"~H/J2%/ x| 4+ &

i B D E F G H J K M N o P Q
YAH-05 125 100 80 65 45 405 98 652 59 37 33 39 405
YAH-06N | 156 130 | 100 80 65 50 108 | 822 74 50 46 53 98
YAH-08 195 170 | 130 90 70 55 120 | 912 82 56 52 60 110
YAH-10 218 190 | 160 | 120 95 80 145 | 1162 107 81 77 85 135
YGH-10 223 190 | 160 | 125 | 100 86 167 | 1212 | 112 87 82 90 154
YAH-12 247 215 | 180 | 135 | 110 95 167 | 1312 | 122 9 91 100 154

oA E L L2 L3 L4 L5 L6 L7 L8 L9  L10max L10min L11max L11min
YAH-05 130 13 915 4 - 25 10 - 1875 | 37 25 12 0
YAH-06N | 1265 & 11 76 55 15 30 11 5 1166 = 34 19 15 0
YAH-08 130 12 885 55 15 30 6 5 1195 | 39 19 20 0
YAH-10 143 12 955 55 15 35 6 5 1265 @ 44 19 25 0
YGH-10 | 1495 | 14 955 55 15 35 6 5 1285 @ 44 19 25 0
YAH-12 | 1625 = 14 | 1085 | 55 15 35 6 5 1415 = 49 19 30 0

MomgA eS| L12 | L13 | L14 | L15 | Li6 i T2 T3 T4 2
YAH-05 187 64 23 | 815 40 6-M8X14 M40XP1.5 M39XP1.5 PT-1/4 M5X10
YAH-06N | 181 75 36 120 40 | 6-M10X18 | M55XP2.0 M52XP1.5 PT-1/2 M5X10
YAH-08 186 81 36 130 40 | 6-M10X18 | MBOXP2.0 M58XP1.5 PT-1/2 M5X10
YAH-10 208 95 36 150 40 | 12-M10X18 | MB85XP2.0 M84XP2.0 PT-1/2 M5X10
YGH-10 217 107 36 166 40 | 12-M10X18 | M90XP2.0 M8IXP2.0 PT-1/2 M6X10
YAH-12 230 107 36 166 40 | 12-M12x22 | M100XP20 = M99XP2.0 PT-1/2 M5X10

* Kl A AIRSE ol elo] HEE 4 UsH T
% Specificalions are subject 1o change without rotice.

Model Description/ElE-5 88/ A ESH /S

YLIH L) - L] YAS [J-0JL]L]

.....................................

Cvlinder Size  Blank | Standard Cylinder Size
CA | Coolant Collector

: Blank | Standard
Cylinder Model A | Big Bore(E&E¥) C | Check Valve Type
G | Great Bore(CH &S &) P | Proximity Switch Type
T | Check Valve + Proximity Switch Type

www .seoam kr |41

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X




XA
38"

nx

2l

R HIGH SPEED BIG BORE HYDRAULIC CYLINDER
HRZ2Y LBV o8 - ) BARIBE

Al
o =2
I

kX

- AS ZUSt - o1 Bw
1 (S51SZ0172805) - S HH £

I

I
rfon
2 o5

nx e

!

—+ Compatibility - Small Size & Light Weight
- Leakage Prevention Design

+ Safety Guaranteed
+ Highest Draw Pull

- MR - /|8YL BE - 2R
= MEPRLEET GRS ‘BY 3 2EFHED
g
= - TS RN, EBE - (RETe
= -Brtimst &RbE 0172800 -FIBEK
0
()]
<
—
e
O
m e - _
T X 518 A1 BiRi4 =k ASX|of Ze
¥ Maximum turning speed is based onactual measurment
Specifications /A& /T ALY E
\\\\SDeC.A}?J Cylinder Dia | Piston stroke = Thru hole Dia Fiston surface area Bl
bs RO | maErse  wECBSR TIAE EH o LR ) [l
HS
Modef&Al mm mm mm Push2t= Pull 1% Push2t= Pull 1%
YSH-05 2SHO5 105 15 36 67.15 64.47 25(2549) 24(2447)
YSH-06 2SH06 130 16 46 107.29 95.53 39(4025) 35(3586)
YSH-08 2SH08 156 22 52 159.77 148.62 57.6(5879) 536(5469)
YSH-10 2SH10 185 25 77 209 193.9 779(7944) 72.1(7357)
YSH-15 2SH15 250 23 117.5 364.4 331.8 129.8(132334) | 118.2(12050)
YSH-21 2SH21 280 85 166.5 3721 3271 111.5(11376) 98(10002)
YSH-32 2SH32 390 35 240 683 643 101.4(10245) 954(9645)
MUMWSpemig Max.operatingpressure | Maxpermissible speed Total leakage Weight GD? Matchinglchiok
A TAIR Qo FHIMNEE B scefo g B Moment of inertia e
N Mpalkdf/cr) r.om(min”) 2 /min kg Nt (kgfur ) oo
YSH-05 40.8 8000 3 7.3 0.09(0.010) CAH-05
YSH-06 40.8 7000 8 9.5 0.20(0.021) CAH-06
YSH-08 40.8 6200 39 13.5 0.39(0.040) CAH-08
YSH-10 40.8 5000 4.2 16.8 0.81(0.083) CAH-10
YSH-15 40.8 3000 7 52 18.6(1.9) CAH-15,18,21, 24
YSH-21 33.6 2000 8.4 74 29.43(3) CAH-21, 24
YSH-32 25 1500 18 130 39.2(4) CAH-32

42 | www .seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X

Dimension/)R~H/E& /X 4+ &

o tem¥S C D

Modl®Al E F G H J K M N 0] P Q
YSH-05 137 115 100 65 48 38 108 76 64 42 36 45 98
YSH-06 165 130 100 80 65 50 108 82.5 74 50 46 53 98
YSH-08 190 170 40 90 70 55 126 90 81 56 52 60 113
YSH-10 222 190 160 120 95 80 164 121 110 81 7 85 155
YSH-15 307 275 230 170 140 123 216 167 152 122 175 125 198
YSH-21 354 290 260 240 190 170 278 217 205 1705 1665 175 256

YSH-32 454 420 320 280 265 243 358 297 285 2505 240 255 330

— tem¥S

Model%& 4 L1 L2 L3 L4 L5 L6 L7 L8 L9 L10Omax L10min Li1max| L11min
YSH-05 ‘ 94.2 8.9 69 6 15 25 7 5 99.5 36 21 15 0
YSH-06 97.3 7.4 72.5 6 15 30 7 5 102 37 21 16 0
YSH-08 100.1 8.9 74 6 15 30 7 5 105.2 43 21 22 0
YSH-10 115.2 12.7 86 5 15 35 7 5 1125 46 21 25 0
YSH-15 141.5 18.5 102 6 20 45 9.85 6 163 46.3 23.3 24 1
YSH-21 166.5 18.5 123 7 20 45 9.85 5 184 60.3 25.3 35 0
YSH-32 170 18.5 122 5 20 45 9.85 5 197 60 25 35

Momlgﬁnemﬂ% L12 L13 L14 L15 L16 T1 T2 T3 T4 5
YSH-05 134.1 66.5 34 115 55 6-M10X18 M42XP1.5 M44XP1.5 PT-3/8 4-M5X10
YSH-06 135.6 78 42 120 59 6-M10X18 M55XP1.5 M52XP1.5 PT-1/2 4-M5X10
YSH-08 138.5 86 40 130 55 6-M10X18 M60XP1.5 M58XP1.5 PT-1/2 4-M5X10
YSH-10 155 88 40 149 59 6-M10X18 M85XP2.0 M84XP2.0 PT-1/2 4-M5X10
YSH-15 241 140 40 215 50 12-M16X32 M130XP2.0 M124XP2.0 PT-1/2 4-M6X10
YSH-21 2595 | 1726 40 250 55 12-M16X32 M124XP2.0 M173XP2.0 PT-1/2 4-M6X10
YSH-32 277 214 40 332 58 12-M16X40 M250XP3.0 M253XP2.0 PT-1/2 6-M6X10

% A4 9 A2 ol glo] HHE 4 it

% Specificalions are subject o change without rotice.

www.seoam kr |43



0

X

E HYDRAULIC CYLINDER
BAATIL

2
o
HL

- S ME - AHS ZYS .o g
QUIX| M7(S815E:0172805) - S HH £

— « Compatibility + Small Size & Light Weight - Safety Guaranteed
- Leakage Prevention Design - Highest Draw Pull

- -BfMSR -/ 8UL B2t - REFER
- RHPILEET 6ETER) B 7 2BRHED

T
_<
% - EFESME RN EBE O -RETe
= - Bt GRNER 0172800) - FTSEA
—
(@]
()]
<
- X 518 3|1 SITA =E UEX| 0| 8
% % Maximum turning speed is based on actual measurment
m e o =
T Specifications /#F& /AL E
\\spea)\i‘?:F Cviinder Dia | Piston stroke | Thru hole Dia Piston surface area Max.Draw bar pull
. el | WECWZ | magaEz3  yuCBER T|AE SN ar 4 F2 KN(ka)
H S
ModeRiAl mm mm mm Push 2= PullOI= PushQIS PullOI=
YSGH-06 2SGHO06 145 25 52 131.6 122.6 437 (4456) 407(415)
YSGH-08 2SGHO08 170 25 68 179.6 166.2 66.8(6814) 61.8(6306)
YSGH-10 2SGH10 189 25 82 213 197.5 769(7848) 713(7273)
YSGH-12 2SGH12 215 35 103 262.3 2459 850(86672) | 797(81276)
- SpecME | oy operatingpressre | Maxpermissbie speed Total leakage Weight GD? Vatohing chick
FIANBFUH AIAMZE W SCEA Y Y Moment of inertia Eapy
MOderng\\ kaf /et rom(min”) 2/min kg N (kgf.m) o
YSGH-06 40.8 6500 3.9 12.7 0.30(0.031) CGH-06
YSGH-08 40.8 5600 4 16.5 0.63(0.065) CGH-08
YSGH-10 40.8 4800 4.5 26 0.95(0.097) CGH-10
YSGH-12 40.8 3500 6 36 18.0(1.84) CGH-12

44 | www seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

T
<
g
.y
>
c
=
= 0
10} . Q
<
=
Z
=
Dimension/ R~/J2&/A ¢+ & T
o temys
ModsI& Al ~ . ¢ D E F G H d K M N 0 = Q
YSGH-06 | 180 | 165 | 140 | 80 70 55 135 | 96 85 | 595 | 52 62 | 110
YSGH-08 | 210 | 190 | 160 | 120 | 85 70 154 | 111 | 100 @ 715 | 68 75 145
YSGH-10 | 226 | 190 | 160 - 100 | 85 164 | 128 | 117 | 86 82 % | 155
YSGH-12 263 225 200 145 120 106 202 148 135 108 103 112 190
o L L2 L3 L4 L5 L6 L7 L8 L9  Liomax LiOmn Liimax Liimin
YSGH-06 | 99 9 755 | 11 10 20 121 8 102 | 83 58 22 -3
YSGH-08 | 1052 @ 127 | 76 5 15 35 7 5 | 1025 46 21 25 0
YSGH-10 | 1222 | 127 | 90 - 15 35 7 5 125 | 46 21 25 0
YSGH-12 | 148 14 | 1085 55 15 30 7 5 155 | 55 20 35 0
o tem¥S
MoomA— | L12 | L138 | w14 | L15 | L6 Ti T2 T3 T4 T5
YSGH-06 | 1385 | 86 4 | 130 | 55 | 12-M10X18 | MBOXP1.5 |  MEOXP1.5 PT-3/8 4-M6X6
YSGH-08 | 155 88 4 | 149 | 55 | 6-MIOXI8 | M75XP20 | M74XP15 PT-1/2 4-M5X10
YSGH-10 | 175 | 102 | 40 | 170 | 55 | 12-M10X18 | MYOXP20 | M89XP2.0 PT-1/2 4-M6X15
YSGH-12 | 211 126 | 40 | 195 | 55 | 12-M16X32 | MI11XP20 = M111xP20 | PT-1/2 4-M6X15

x xi4 U Ajofe ouglo] HZE 4 AsLCE

% Specificalions are subject o change without rotice.

www.seoam kr |45



I
_<
o
e
>
cC
C
(@]
)]
<
C
Z
O
m
X1

274 ZTLYY YUY (BAEEI)

= =2 = S ——
SUPER HIGH SPEED BIG BORE HYDRAULIC(Long Stroke)
BEEAZZ ) LBV ) v &~ [ BAEFL B

-. 53l

SR AE - AHS ZYS . O B . SQUX| MASSSE:0172805) - 52 i £

Compatibility + Small Size & Light Weight - Safety Guaranteed - Leakage Prevention Design - Highest Draw Pull
- BR[| 8UL BEt - REHER - RENLESETGETESD -[FY 5 2BFHED
TEFESE RN, ZEE R -ttt &RiERoi2en) - FJER

X 518 A1 BiRi4 =k ASX|of Ze

¥ Maximum turning speed is based on actual measurment

Specifications /4F&/ MR/ AL E

\\\\:\\Spew\}%i Cylinder Dia | Piston stroke | Thru hole Dia Piston surface area yax. Draw bar pul
o OWerNO. wmcy | mamAEza | yEGEEZ TAE SHHE o 42 22 KN(ka)
Modemal mm mm mm Push t= Pull Q1= Push 2= PUIQIE
YSHL-15 2SHL15 250 50 117.5 364.4 331.8 129.8(13233) | 118.2(12050)
YSH.-21 2SHL21 280 51 166.5 372.1 327.1 111.5(11376) | 98(10002)
YSHL-32 2SHL32 390 51 240 683 643 101.4(10245) | 954(9645)
SpecAtY  Max.operatingpressure | Maxper missiole speed Total leakage Weight GD? .
5 ABRLY LR PS TR 5% Momentof nettia | “atching chick
ModeliAl kgf/crt r.om(min™") 4/min kg N-m (kgf.m') se
YSH-15 408 3000 7 52 186(19) CAH-15, 18,24
YSH.-21 336 2000 84 77 2943(3) CAH-21, 24
YSHL-32 25 1500 18 135 392(4) CAH-32
e D E F G H J K M N o P Q
YSH-15 | 307 | 275 | 230 | 170 | 140 | 123 | 216 167 | 152 | 122 | 1175 | 175 | 256
YSH.-21 354 290 | 260 | 240 190 | 170 | 278 | 217 | 205 | 1705 1665 175 | 256
YSH.-32 | 454 420 | 320 | 280 | 265 | 243 | 358 | 297 | 285 | 2505 240 | 255 | 330
Moami Lt L2 L3 L4 L5 L6 L7 L8 L9 | Liomax LiOmin Liimax L1 min
YSH.-15 | 1685 | 185 | 129 6 20 45 985 6 190 76 26 46 -4
YSH-21 | 1825 = 185 | 139 7 20 45 985 5 200 | 763 | 253 51 0
YSH.-32 186 | 185 | 138 5 20 45 985 5 213 76 25 50 -1
Mml%"‘e’“gg L12 L13 L14 L15 L16 T T2 T3 T4 T5
YSH.-15 241 140 40 215 50 | 12-M16X32 | M124XP2.0 | M111XP2.0 PT-1/2 4-M6X10
YSH.-21 | 2505 @ 1726 | 40 255 55 | 12-M16X32 = M180XP3.0 | M173XP2.0 PT-1/2 4-M6X10
YSH.-32 217 | 214 40 332 58 | 12-M16X40 = M250XP3.0 | M253XP2.0 PT-1/2 6-M6X15

X Xlg= A2 oflglo] HAE  AGLICE
X Specifications are subject 1o change without rotice.

46 | www _seoam kr



SuE U
COOLANT COLLECTOR
H-FviaLa98- | BYRNER

- mag

ton

I+ N XSS gl

]

—+ Coolant Collection - Checking Cylinder operation
- UHPHEM -2 v X e R
- PSR - W NEESEEIR)ET

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X

P33 1.5 Z1 233 Z1

<CA TYPE> <CC TYPE>

Dimension/ R~/ JZ&E/ A+ B

e T T2 T3 T4 T5 Z1 z2 Matching Cylinder/& 8A12IH
CA-06 90 88 ¢ 94 121 61 745 365 YSH/YAH-06
CA-08 100 ¢ 100 ¢ 106 $132 67 795 365 YSH/YAH-08
CA-10 126 9125 9 132 $158 80 845 37 YSH/YAH-10
CA-12 142 9143 ¢ 154 180 95 88 37 YSH/YAH-12

CSG-08 142 143 ¢ 154 9177 925 88 37 YSGH-08
CG-10 142 $133 6 154 9177 925 88 37 YGH-10
Cs-15 190 ¢ 185 9 186 210 117.5 102 35 YSH-15

Voraga—leng® T T2 T3 T4 T5 Z1 z2 Matching Cylind er/X 12T
CC-06 155 88 ¢ 90 = 65 923 343 YAH-06
CC-08 155 ¢ 100 ¢ 90 - 70 998 418 YAH-08
CC-10 200 9125 $150 = 100 146.8 618 YAH-10
CC-12 200 143 9150 - 100 146.8 618 YAH-12
CC-08 155 9143 9125 = 977 973 393 YSGH-08
CC-12 200 ¢ 165 9125 - 102 152.3 67.3 YGH-10
CC-15 190 ¢ 185 9150 = 117 142.8 645 YSHL-15
CC-21 235 ¢ 248 9 205 - 133.1 142.8 645 YSHL-21
CC=82 285 ¢ 328 ¢ 305 = 169.7 132.8 55 YSHL-32

x xi4 o Alje olnglo] MEE 4 st

% Specifications are subject o change without rotice.

Cylinder Size Cylinder Size

www.seoam kr |47



54y MU
LOSED CENTER HYDRAULIC CYLINDER
SHEARBEIRE Y ) v & - / PEREFHI

an @ kd

- BHHU RE -2 I MEIVS - LAY BEE - nE5H

—+ Economical Model - Horizontal-Vertical Type Available
- Small size & Light weight < High Speed Rotation

- EEORETN - ATEBEEE /RSl - Stk
- XA OKTSERETEYT M EBE -SERE

I
_<
o
e
>
cC
C
(@]
)]
<
C
Z
O
m
X1

* o1& Z[1l 3T = AEX|0f E8f
¥ Maximum turning speed is based onactual measurment

Specifications /ATF&/ IR/ AL B

Spec.Atf e e Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
él:i;ji ARG HAEAEZ] I AE CHHE or A8 =3 KN(kgf)
Model®Al mm mm Push 2% Pull Q1= Push 2% Pull Q1=
YAS-65 2AS06 65 15 330 300 122(1245) 11.2(1443)
YAS-80 2AS08 80 15 50.0 450 184(1877) 16.5(1684)
YAS-100 2AS10 105 20 865 795 318(3244) | 293(2989)
YAS-125 2AS12 130 25 132.5 123.0 48.8(4978) 453(4621)
YAS-150 2AS15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YAS-200 2AS20 205 35 330.0 306.0 121.6(12404) = 112.8(11505)
YAS-250 2AS25 250 60 490.2 457.7 179(18400) 169(17 200)
\\Spea/\}%f Max.operatingpressure | Maxpermissible speed Total leakage Weight GD? Matching chuck
A IASHUH AT A3 M Bt N =g Moment of inertia x.]gg_a
Model&Al kaf/cr r.om(min"") £ /min kg N (Kgf.m )
YAS-65 408 6000 1.0 32 011(0011) CAS-04
YAS-80 408 6000 1.0 43 029(0.03) CAS-05
YAS-100 408 6000 1.0 53 049(0.05) CAS-06
YAS-125 408 6000 1.0 74 0.88(0.09) CAS-08,CAS-10
YAS-150 408 5500 1.0 103 1.47(0.15) CAS-10,CAS-12
YAS-200 408 5500 1.0 195 362(0.37) CAS-15 0|44
YAS-250 408 2000 1.0 - - CAS-4050,63
Dimension/R~F/SEE/A+E
Wotemg 2= C D E F G L1 L2 L3 L4 | L5 L6 | L7 max L7 min T T2
YAS-65 100 80 60 20 13 145 111 65 - 100.5 30 45 30 6-M8X16 | M12XP1.75
YAS-80 110 90 65 25 17 145 111 65 = 1005 30 45 30 | 6-M8X16 @ M16XP2.0

YAS-100 135 100 80 30 21 168 134 | 815 65 | 1235 35 45 25 | 6-M10X19 | M20XP2.5
YAS-125 160 130 110 35 25 178 144 | 915 65 | 1335 40 50 25 | 6-M12X22 | M24XP3.0
YAS-150 185 130 110 45 305 185 151 985 65 | 1405 45 55 25 | 6-M12X20 | M30XP3.5
YAS-200 245 145 120 99 37 | 2085 | 1745 | 122 65 164 60 69 34 | 6-M16X29 | M36XP4.0
YAS-250 314 | 282 160 65 46 | 2525 | 2155 166 65 208 67 85 25 | 6-M12X30 | M42XP3.0

% R4 3 NS 0lnglo] BHEE 4 YUt

% Specificalions are subject o change without rotice.

48 | www .seoam kr



£ 4T TFYLRH (MIYE YY)

Mae . 243Z0| 80| - DS - DEW

ro

—+ Safety Guaranteed < Easy Repair & Check
+ High Performance and High Quality

- REHER - WERENES - Bt BRE
--RETE - FETNEHE Mt REFF

Outward Drawing/4} 2R/ AR @ 8 =

o0

X ol Fl SN e UKo =2

¥ Maximum turning speed is based onactual measurment

Specifications /4F&/ TR/ AL &

Spec. Al Order NO Cylinder Dia Piston stroke Piston surface area Max.Draw bar pull
ors ARG LAEAEZT AE SHHY o A &3 KN(kgf)
Model®A mm mm Push 2= Pull 1= Push &= Pull Q1%
YASC-100 2ASC10 105 20 865 795 31.8(3244) 29.3(2989)
YASC-125 2ASC12 130 25 1325 123.0 488(4978) | 453(4621)
YASC-150 2ASC15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASC-200 2ASC20 205 35 330.0 306.0 121.6(12404) | 112.8(11505)
YASC-250 2ASC25 250 60 490.2 457.7 79(18400) 169(17 200)
 SpecA¥ | Max.operatingpressure | Maxpermissibe speed Total leakage Weight GD? Matching chuck
AR QU HIAIRSE He scooly 5 Moment of inettia e
ModeAl kaf/ci r.om(min”) 2 /min kg N (kgf.m) e
YASC-100 40.8 6000 1.0 7.0 0.49(0.05) CAS-06
YASC-125 40.8 6000 1.0 9.8 0.88(0.09) CAS-08,CAS-10
YASC-150 40.8 5500 1.0 13.3 1.47(0.15) CAS-10,CAS-12
YASC-200 40.8 5500 1.0 21.7 3.62(0.37) CAS-15 0|4}
YASC-250 40.8 2000 1.0 - - CAS-4050 63
Dimension/R~f/<EE/A+ &
vogag ™ G D E F G L1 L2 L3 L4 L5 L6 | L7max L7min 1 T2

YASC-100 135 100 80 30 21 | 1985|1645 81.5 37 154 35 45 25 | 6-M10X19  M20XP2.5
YASC-125 160 130 110 35 25 20851745 91.5| 37 164 40 50 25 | 6-M12X22 | M24XP3.0
YASC-150 185 130 110 45 30.5 | 2155 | 181.5| 98.5 | 37 171 45 55 25 | 6-M12X20  M30XP3.5
YASC-200 | 245 145 120 55 37 239 | 205 | 122 37 | 1945, 60 69 34 | 6-M16X29 K M36XP4.0
YASC-250 | 314 | 282 160 65 46 283 | 256 | 166 46 249 67 85 25 | 6-M12X30 | M42XP3.0

x xi4 U Ajofe ouglo] HZE 4 AsLCE

% Specificalions are subject o change without rotice.

www .seoam kr |49

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X




I
_<
o
e
>
cC
C
(@]
)]
<
C
Z
O
m
X1

IEFHY SMRULEH (ZHE AR BE IS E)
CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
BRTSRRITEHE ) X - (R v FRYTUATERY / Pl (riafe)

- EE X WS - A FYH -1y

olr

Kl
A

xx
=

-+ Detection of Operating Location
* Miniaturization & Lightness - High Performance and High Quality

- EEUEEY - AEESEl - Mg BRE
- WABETIER - RN, EEE M, REF

X 518 H R4 = AEX|0f e

¥ Maximum turning speed is based on actual measurment

Specifications /AF&/ R/ AL B

SpecAlY Cylinder Dia Piston stroke Piston surface area Max.Draw bar pul
Order NO. ARGy A IAEAEZ] I|AE CHHE oy A2lH =3 KN(kgf)
omME
WY mm mm Push 1= PUl QI Push 1% PUI QIS
YASP-100 2ASP10 105 20 865 795 31.8(3244) 29.3(2989)
YASP-125 2ASP12 130 25 132.5 123.0 488(4978) 453(4621)
YASP-150 2ASP15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASP-200 2ASP20 205 85) 330.0 306.0 121.6(12404) 112.8(11505)
YASP-250 2ASP25 250 60 490.2 457.7 179(18400) 169(17200)
| o
\\SpeaA}J Max.operatingpressure | Maxpermissible speed Total leakage Weight GD? Matching chuck
N HANB YUY HIARE M4 scooly £ Moment of inertia Cmné‘ﬁ w
T \ kaf/er r.om(min™) £/min kg N (kgf.m) sen
odel&Al
YASP-100 408 6000 10 58 0.49(0.05) CAS-06
YASP-125 408 6000 10 79 0.88(0.09) CAS-08,CAS-10
YASP-150 408 5500 10 108 1.47(0.15) CAS-10,CAS-12
YASP-200 408 5500 10 200 3.62(0.37) CAS-150] 4
YASP-250 408 2000 10 - - CAS-40, 50, 63

50 | www.seoam kr



Outward Drawing/4} EUER/ARIEY @ & =

81

iy

DRAIN PORT

o emes
(o] D E F G L0 L1 L2
Model34]
YASP-100 135 100 80 30 21 236 155 134
YASP-125 160 130 110 385 25 246 165 144
YASP-150 185 130 110 45 305 253 172 151
YASP-200 245 145 120 55 37 276.5 195.5 174.5
YASP-250 314 282 160 65 46 252.5 215.5 166
lte m&ts
L3 L4 L5 L6 L7 max L7 min T1 T2
Model3 A
YASP-100 815 65 123.5 35 45 25 6-M10X19 M20XP2.5
YASP-125 915 65 (83815 40 50 25 6-M12X22 M24XP3.0
YASP-150 985 65 140.5 45 55 25 6-M12X20 M30XP3.5
YASP-200 122 65 164 60 69 34 6-M16X29 M36XP4.0
YASP-250 166.5 65 208 67 85 25 6-M12X30 M42XP3.0

% A U A2 0lglo] HHE 4 U

=

X Specifications are subject o change without rotice.

www .seoam kr |51

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X




TEFHY SIMRULEH (HIEE WE+IHAHZ| 22 7E53)
CLOSED CENTER  HYDRAULIC CYLINDER (CHECK VALVE+PROXIMITY SWITCH Type)
EREEEERR A ) & ~ / SPIR[Eg B

- mgEel IX . AY Fus - D45 DR

0|

—+ Combined Structures - Small size & Light Weight
+ High Performance and High Quality

--EafnEsE - REEL - Sl BRE

T - E641 AN, EBE - e RER
)
X
>
C
—
(@)
®) X ol& 2|1 SINL o= ASK| o &8
< % Maximum turning speed is based on actual measurment
=
% Specifications /A& /TR AHS H
B
Sp ec. AHf Cylinder Dia EHE e Piston surface area Max. Draw bar pull
Order NO. ARICILYZ DAEAEZS I AE CHHE op Al2i 23 KN(Kgf)
LS - -
Model& Al mm iy Push 1% PUI QI Push 1= PUI OIS
YAST-100 2AST10 105 20 865 795 31.8(3244) 29.3(2989)
YAST-125 2AST12 130 25 132.5 123.0 488(4978) 453(4621)
YAST-150 2AST15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASTL-150 2ASTL15S 150 50 176 160 64.8(6610) 60.0(6120)
YAST-200 2AST20 205 35 330.0 306.0 121.6(12404) 112.8(11505)
YAST-200S 2AST20S 200 35 330 306 121.6(12404) 112.8(11505)
YASTL-200 2ASTL20 200 50 330 306 121.6(12404) 112.8(11505)
YASTL-200S 2ASTL20S 200 50 330 306 121.6(12404) 112.8(11505)
YAST-245 2AST24 245 60 470.8 438.2 173.2(176719)  161.2(16450.2)
YAST-250 2AST25 250 60 490.2 457.7 179(18400) 169(17200)
YAST-250S 2AST25S 250 60 481.5 450 180(18270) 167.3(17078)
Spec.AtY Max. operating pressure  Maxpermissible speed Total leakage Weight GD? Matching chuck
A TALS & &4 2| DAL 3| F4 S= ol B Moment of inertia N2
Model&Al kaf/ar rpm(min™) 2/min kg N-m (kgf.m) e
YAST- 100 40.8 6000 1.0 7.5 049(0.05) CAS-06
YAST-125 40.8 6000 1.0 10.3 0.88(0.09) CAS-08,CAS-10
YAST-150 40.8 5500 1.0 13.8 1.47(0.15) CAS-10,CAS-12
YASTL-150 40.8 5500 1.0 159 = CAS-150| 4
YAST-200 40.8 5500 1.0 22.2 362(0.37) CAS-150] 4
YAST-200S 40.8 5500 1.0 24 0.42(0.05) CAS-15 0| A
YASTL-200 40.8 5500 1.0 24 042(0.05) CAS-150] 4+
YASTL-200S 40.8 5500 1.0 26 = CAS-15 0|4
YAST-245 40.8 2000 1.0 38 - CAS-40, 50, 63
YAST-250 40.8 2000 1.0 38 = CAS-40,50, 63
YAST-250S 40.8 2000 1.0 38 - CAS-40,50, 63

52 | www.seoam kr



Outward Drawing /4 EUER/ARIE /2 & =

= ]
- ";F' minEAEER
A
&= '
'
L2 L
&1 L 5 NI
T
Dimension/R~t/SZE/X+E
P Iie k= G D E F G L0 L1 L2

YAST-100 135 100 80 30 21 2666 185.5 164.5

YAST-125 160 130 110 35 25 2765 195.5 174.5

YAST-150 185 130 110 45 305 2835 202.5 181.5
YASTL-150 185 130 110 45 305 3165 233 205

YAST-200 245 145 120 55 37 307 226 205
YAST-200S 245 222 120 55 37 2895 206 187.5
YASTL-200 245 145 120 55 37 3365 2385 220
YASTL-200S 245 222 120 55 37 2865 196 172

YAST-245 305 220 160 65 50 397 302 256

YAST-250 314 282 160 65 46 397 302 256
YAST-250S 305 275 160 65 50 3285 207 178

osas D L3 L4 L5 L6 L7 max L7 min T1 T2

YAST-100 81.5 37 154 35 45 25 6-M10X19 M20XP2.5

YAST- 125 91.5 37 164 40 50 25 6-M12X22 M24XP3.0

YAST-150 98.5 37 171 45 55 25 6-M12X20 M30XP3.5
YASTL-150 131 37 1985 45 80 30 6-M12X20 M30XP3.5

YAST-200 122 37 1945 60 69 34 6-M16X29 M36XP4.0
YAST-200S 104.5 37 177 60 69 34 12-M16 M36XP4.0
YASTL-200 137 37 209.5 60 80 30 6-M16 M36XP4.0
YASTL-200S 1335 - 1635 60 80 30 6-M16 M36XP4.0

YAST-245 166 45 249 67 85 25 6-M20X30 M42XP3.0

YAST-250 166 46 249 67 85 25 6-618THRU = M42XP3.0
YAST-250S 145 - 1745 60 85 25 12-M20 M42XP3.0

% ZK o AR olmglo] HHE 4 U

% Specificalions are subject 1o change without rotice.

www.seoam kr |53

=

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X




TAZAS USIMRIL (DYAYR| 2213)
CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
B ) LB )L — GRER A o FEHTRREY) / relERS T GRS

- .ot WS (HY) - SN pEP =
- EEAZo| 7 . oFd (RS x| UE

—+Short Length(Flat Type) - Center Through Hole Secured
- High Operation Speed - Safety Guaranteed
- Detection of Operating Location

- EaxpEn 2 L) -tV 2 BE R
=Stz S = R (= iVi==i Juu]
- ERIARERSE - TEHRI A L AN AREDEE

« R ARPBR K BEATIR/ME - AL BT T SR
- BTt A S (ol T A R T

I
_<
o
e
>
cC
C
(@]
)]
<
C
Z
O
m
X1

X 518 A1 BiRi4 =k ASX|of Ze

¥ Maximum turning speed is based on actual measurment

Specifications /AF&/ AR/ AL B

 SpecAly Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
~ O L ARICILYZ IAEAEZT O AE CHIE o Azl %3 KN(kgf)
- ~ gl:‘llﬁ'_‘lg
Model®@A (00 (00 Push 1% Pull 1% Push 2% Pull 1%
YMS-105-15 2MS10 105 15 830 764 312(3183) 28.7(2930)
YMS-120-20 2MS12 120 20 109.5 102.9 41.2(4200) 38.7(3946)
YMS-135-20 2MS13 135 20 141.9 132.9 534(5442) 50.0(5097)
YMS-140-25 2MS14 140 25 153.9 1437 579(5902) 54.1(5511)
YMS-150-35 2MS15 155 35 188.6 176.1 709(7233) 66.3(6754)
\*\\\\\’Spew\l‘é Max.operatingpressure | Maxpermissible speed Total leakage Weight Gp* Matching chuck
HINBRYUY N8| S =L EX Moment of inertia e
Model&Al kgf/cr rp.m(min™") 2/min kg N-m (kgf.m) e
YMS-105-15 40.8 6000 1.0 11.0 152(0.16) CAS-06
YMS- 120-20 40.8 5000 1.0 1.8 211(022) CAS-08
YMS- 135-20 40.8 5000 1.0 13.2 320(033) CAS-08,CAS-10
YMS- 140-25 40.8 5000 1.0 14.5 392(040) CAS-10,CAS-12
YMS-150-35 40.8 4200 1.0 17.5 4.60(047) CAS-12
Dimension/R~H/#EE/X 4+ &
sy ™% C D E F G| H J | K M| Lt | L2 L3 L4 L5 L6 L7maxl7mn L8 L9 Ti T2 T3
YMS-105-15|180 | 128 | 85| 36 | 21 | 6 | 16 | 18 28 | 1301175 57 |135| 46 | 28 | 53 | 38 | 23| 25 6-M10| M20XP25 | PF3/8
YMS-120-20 | 192 | 150 | 120| 36 | 21 | 6 | 16 | 18 28 | 139 1265 65 155 46 | 28 @ 53 | 33 | 23| 25 6-M10| M20XP25 | PF3/8
YMS-135-20 | 225 | 160 | 120| 36 | 21 | 6 | 16 | 18 28 | 1391265 65 155 46 | 28 | 58 | 38 | 23| 25 6-M10| M20XP25 | PF3/8
YMS-140-25 | 225 160 | 120 36 | 21 | 6 | 16 | 18 | 28 | 1441315 70 155 46 28 | 58 33 | 23| 25 6-Mi0 M20XP25  PF3/8
YMS-150-35 | 250 | 175 | 120 40 | 25| 6 | 20 18 | 28 | 1641515 90 | 225 46 | 28 | 63 | 28 23| 25| 6-Mi2| M24XP30 PF3/8

% Xl A AR olnglo] HEE 4 ASLICH

% Specificalions are subject o change without rotice.

54 | www_.seoam kr



TASUINRYMRN (F4H, AT B2BY)

POWER CYLINDER WITH THROUGH HOLE
BERZELIHES ) v & ~ | PEET BT

-« SHAZIH SR 2=
- Air Sensor == Coolant Blowing 7ts

—- 1t is a solid cylinder with one pipe way in central parts.
It is able to air sensor or coolant bowing structure.

-« FREES ) v B —FRCE BRI

« Air SensorX£C oolant BlowingAJEE

— - BepETRE \
- PUAEFE BT IS TR I AR

Outward Drawing/4} 2R/ ARIE @ 8 =

Wl

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X

mf <}
5| 8 5

x 518 31 R4 =t MEX 0| F8

¥ Maximum turning speed is based onactual measurment

Specifications /4F&/ TR/ AL &

~ SpecAl¥ Order NO Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
~ raer V. AR HAEAEZZ D|AE CHEE o MG %3 KN(kgf)
o QHHS == =
Mode®4 mm mm Push 2% Pull 2= PushlS Pull 21
YTRC100 2TRC100 105 20 865 795 31.8(3247) 29.3(2984)
YTRC125 2TRC125 130 25 132.5 123 48(4900) 45.1(4600)
YTRC140 2TRC140 140 35 150.8 141.2 555(5660) 52(5300)
YTRC200 2TRC200 200 35 309.4 293.4 113.9(11614) 108(11013)
YTRC250 2TRC250 250 60 515 482 189.6(19331) 177.4(18092)
\\\*\\\\SDGQM%F Max.operatingpressure | Maxpermissible speed Total leakage Weight GD? R ——
AINBSUY | ADABHES sedo g 5% Moment of ineftia HEn
Model&Al kaf /et rp.m(min-) 2 /min kg N (kaf. ) S
YTRC100 408 6000 1 8 0.49(0.050) CAS-06
YTRC125 408 5000 1 105 0.88(0.09) CAS-08,CAS-10
YTRC 140 408 4500 1 113 157(0.16) CAS-10,CAS-12
YTRC200 408 4000 1 223 451(046) CAS-150]4¢
YTRC250 408 3500 1 252 8.33(0.85) CAS-40, 50, 63

Dimension/ R~/ #&E/ A+ &

vorows ©™% A B  C| D  E | F H L M Nmax Nmin | Omax Omin | P
YTRC100 | 135 100 80 | 30 =82 | 103 | 21 & M20xP25 M10,DP19 | 34 = 14 | 291 & 271 | 5
YTRC125 160 | 130 110 35 92 | 103 25 M24xP30 M12,DP22 34 = 14 | 311 286 5 50 | 25
YTRC140 | 175 | 130 | 110| 35 1065 98 | 25 M24xP30 M10,DP20 395 @ 45 | 271 & 236 |5
YTRC200 | 245 | 145 120 55 1205 98 = 37 = M36xP40 M16,DP29 395 45 | 285 250 15 | 60 | 25
YTRC250 | 305 | 220 | 160 | 65 | 170 | 98 | 44 = M42xP3.0 | M20,DP35 645 @ 45 | 3595 2995 20 | 85 | 25
% Xl 2 AR ol nglo] HEE 4 aLict

% Specificalions are subject o change without rotice.

Rmax Rmin

www .seoam kr |55



SeOAM
MANUAL CHUCK

42 otasie LTt
=1

We will make a great effort to get customers satisfaction with self—confidence of the best.
Having accumulated technologies and continuous improvement efforts,

the SEOAM promises to provide world top class quality products and reliable services
with various manual chuck series offering high precision and durability.

SEOAM Machinery is proud of the highest quality and precision products.



MS

3% =X

4L Lo

3—JAW SCROLL CHUCK

58P

MSU

5 223 oS
TWO PIECE JAW
SCROLL CHUCK

60P

MSL

=3 a2 &
STANDARD
SLOTTER CHUCK

61P

Mi

4% BHEH
4-JAW INDEPENDENT CHUC

62P

MU

= wdd

MANUAL CHUCK

64P

MIOC

RSy S
INDEPENDENT OIL
COUNTRY CHUCK

65P



A3NHD IVNNVIN

3-% A5H

3-JAW SCROLL CHUCK
32EBF vy s /| ZMBENFR

cHan

2

fol

— ke QU BY . DEY 72 $E .

—+ General Model -High Quality & Long Durability
- Compatibility - Parts

- ROVBREITL - BRE RWIw - ERE - (IER
--HER -ERER A RS - BT

% Mol el 2HE FXst7| o 2l L23| Ol 22|AE FUstH FEAL
% It is recommended to grease chucks at leas! twice a day in order to maximize longevity.

Specifications A&/ TR/ AL E

Spec.AlY S Chuck size | Tru-hole Dia Gripaing Force Gripping Dia Z}2tA Weight  Maxpemissidesped
oums Er?mg Efmg ’_‘f‘f Extemal (@) Intemal (2) f? ?iﬂfm’_‘m
ModedAl MAX. mm MIN.mm MAX mm MIN.mm
MS-3 00103E 85 16 910 70 2 64 24 15 2500
MS-4 00104E 112 24 1220 90 3 84 32 33 2500
MS-5 00105E 132 32 1530 110 3 100 35 46 2500
MS-6 00106E 167 45 2140 160 4 150 48 79 2000
MS-7 00107E 193 58 2550 180 4 170 56 12 2000
MS-8 00108E 203 58 2550 180 4 170 56 133 2000
MS-9 00109E 233 70 3060 220 5 210 62 193 2000
MS-10 00110E 273 89 3670 260 6 250 70 262 1800
MS-12 00112E 310 105 4480 300 10 290 86 376 1800
MS-14 00114E 355 127 4480 350 12 320 96 572 1500
MS-16 00116E 405 160 4580 400 14 380 100 80.7 1500

58 | www.secoam kr



Outward Drawing /4 EUER/ARIE /2 & =

Dimension/ R~/ E&K/A 4+ B

<

Mo&élé‘)i;‘t?@% e B c D E F G H | J K Jé

MS-3 85 45 73 60 16 7 35 15 3-M6 35 11 =

MS-4 112 58 95 80 24 8 45 17 3-M8 42 14 =

MS-5 132 60 115 100 32 8 45 20 3-M8 50 16 L

MS-6 167 66 147 130 45 10 5 23 3-M10 65 19 Q
MS-7 193 76 172 155 58 11 5 28 3-M10 75 22
MS-8 203 76 176 160 58 11 5 28 3-M10 75 22
MS-9 233 84 210 190 70 12 55 345 3-M12 85 24
MS-10 273 86 250 230 89 12 55 39 3-M12 98 28
MS-12 310 9 285 260 105 14 7 45 3-M12 110 | 30
MS-14 355 112 328 300 127 15 7 50 6-M12 132 35
MS-16 405 122 375 345 160 15 8 56 6-M14 146 | 40

X Xl AR ol 2el0| HEE 4 UsH
% Specificalions are subject 1o change without rotice.

Model Description/Fl258f/ I HESR T/ AHS HA|

Chuck Size

Blank | Standard
T | 2-jaw type
F | 4-jaw type
S | 6-jaw type
Ul Twopiece jaw type

www .seoam kr |59



L]
ﬁ oo

CE JAW SCROLL CHUCK
BT vy o [ pEFIATEREEELFE

- ES 22y S - WLIZ 80| - ALY S0l 7I0f
3 .Sy CEAE

3

-+ Jaw Detachable Scroll Chuck - Easy in Precise Processing
» Contribution for Increasing Performance
» High Quality, Long Durability -+ Compatibility -« Parts

- oEEsE T v v - -BENIED - AEENELRES
-BRE v -EREt (JER

- NEHT - ZTHENLT  -MEEs
i -REf, ERSeK RS - BT

Outward Drawing/4} EIER/ARIR/ 2 8 &

<
>
Z
c
>
—
(@) x Mol @ull 2HS RXI5H7| sl 24 23| ol a2|A S FUSHH FHAIL
E X It is recommended to grease chucks at least twice a day in order to maximize longevity.
(@) - o o
72N Specifications /&/HETR/ AL B
Spec Aty order NO Chuck size | Thru-holeDia | Gripping Force Gripping Dia Zt2fA Weight | Matermésble speed
S| el | mem | asa | e Exema () Inemal (2) £ | 424848
ModeRAl bl o kof MAXmm = MINmm = MAXmm = MN.mm kg r.pm(min )
MSU-4 01504E 112 24 1220 100 3 93 35 345 2500
MSU-5 01505E 132 32 1530 123 3 122 43 50 2500
MSU-6 01506E 167 45 2140 160 8 150 55 86 2000
MSU-7 01507E 193 58 2550 180 8 170 62 128 2000
MSU-8 01508E 203 58 2550 180 8 170 62 141 2000
MSU-9 01509E 233 70 3060 220 11 210 70 204 2000
MSU-10 01510E 273 89 3670 260 12 250 80 26.7 1800
MSU-12 01512E 310 105 4488 300 15 290 90 393 1800
MSU-14 01514E 355 127 4488 350 25 320 110 60.7 1500
MSU-16 01516E 405 160 4589 400 30 380 110 823 1500
Dimension/R~H/ZEE/X ¢ ®
woooma TS A B © D E F G H [ J K
MSU-4 112 58 95 80 24 8 4.5 315 3-M8 47 19
MSU-5 132 60 119 100 32 8 4.5 36 3-M8 57 24
MSU-6 167 66 147 130 45 10 5 39 3-M10 68 26
MSU-7 193 76 172 155 58 11 5 43 3-M10 82 28
MSU-8 203 76 176 160 58 11 5 43 3-M10 82 28
MSU-9 233 84 210 190 70 12 515 50 3-M12 93 32
MSU-10 273 86 250 230 89 12 5.5 545 3-M12 102 32
MSU-12 310 96 285 260 105 14 7 56 3-M12 118 40
MSU-14 355 122 328 300 127 15 7 705 6-M12 139 45
MSU-16 405 122 375 345 160 15 8 75 6-M14 150 50
% Rl 2 ARES ol nglo] HEE 4 UsLICh
% Specifications are subject o change without rotice.

60 | www seoam kr



HEZS £2H H
STANDARD SLOTTER CHUCK
ZEZ20y 8- /K

- YHHY e OEE 2 2E S8y - BEE

—- General Model -High Quality & Long Durability
+ Compatibility * Parts

- RLIRETIL - BRE RFw B - IER
--EER - RER EAFe T -REME - R

!

<
>
z
c
>
—
@)
T
C
@)
A

% Aol O £TS QXI5H7| sl HA U23| 0L T2UAS FUsHo] FAUIS,

% It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /##&/ HHEE/ AL E

- SpecAly Order No. | Chucksize | Thru-holeDia | Grippirg Force Gripping Dia ZttZ Weight | Maxpermissle speed
orps | dU3 us3 Tt Bxtema (2) Internal (@) By d1nsdEs
ModeRA | - mm mm kf MAXmm = MNmm | MAXmm = MIN.mm kg r.om(min’)
MSL-06 | 001SL-06 & 220 45 2550 8 160 48 150 79 2000
MSL-08 | 001SL-08 & 270 60 3060 11 200 62 190 133 2000
MSL-10 | 001SL-10 | 315 80 4488 12 250 72 240 262 1800
MSL-12 | 001SL-12 = 370 105 4488 15 300 86 290 376 1800
Dimension/R~f/<3E&K/ A+ &
o tem¥E
vowma | A B c D E F G H | J K L M
MSL-06 | 220 | 170 58 18 | 130 | 45 6 26 3-M10x15P 68 26 10 13
MSL-08 | 270 @ 210 65 20 | 155 | 60 6 28 3-M10x15P 82 28 11 13
MSL-10 | 315 | 255 73 20 | 190 | 80 6 32 | 3-M12x175P | 93 32 12 16
MSL-12 | 3870 | 305 80 2 | 250 | 105 5 40 | 3-M10x175P | 118 | 40 14 18

X Al AL o uglo] HEE o~ UAFLICE
X Specifications are subject o change without rotice,

www _seoam kr |61



<
>
Z
c
>
=
@)
T
C
@)
A

4-= CI=X]

a o™

4-JAW INDEPENDENT CHUCK
4288 F v vy /[ DNEHFRN

Specifications /4F&/ R/ AL B

 SpecAly

Modelgal

MI-6
MI-8
MI-10
MI-12
MI-14
MI-16
MI-18
MI-20
MI-24
MI-28
MI-32
MI-40
MI-50
MI-63

Order NO.
HHS

00706
00708
00710
00712
00714
00716
00718
00720
00724
00728
00732
00740
00750
00763

Chuck size
ol
mm

150
200
250
300
350
400
450
500
600
710
813
1000
1300
1600

-+ General model
+ Compatibility

- Bt

Thru-hole Dia
BEZ
mm
40
50
55
65
75
90
100
110
120
140
140
190
390
200

IE

- BYWEIRETI

- fYER

A
3,24y -

- BE, B&FW

-~ BEE R RRAASK ROl

Gripping Force Max. Gripping Dia
njot F| ot 4
kaf mm
600 140
1000 185
1400 220
1600 265
1700 310
2000 360
2000 405
2200 450
2300 550
2350 650
2400 755
3100 910
4181 1170
4181 1550

foi
[

HAIIX
(=] CTEE

S

+ High Quality & Long Durability

* Parts + Customization

BEEF (2LBY-L2

- B/ ¢

Weight
e
kg

6.1
14.8
21
29.5
40
56.5
70
90
150
220
270
550
1420
2083

- HEMHA

- RPAIT

Max permissible speed
X MBS
r.p.m(min")
1600
1600
1600
1400
1400
1200
1200
900
900
700
600
500
380
240

62 | www seoam kr



Outward Drawing/4} EUER/ AR /2 & =

Dimension/ R~/ #F/ A+ &

o ftem¥s

\
Model 34}

MI-6

MI-8

MI-10

MI-12

MI-14

MI-16

MI-18

MI-20

MI-24

MI-28

MI-32

MI-40

MI-50

MI-63

DA
#aC
D

faa

150

200

250

300

350

400

450

500

600

710

813

1000

1300

1600

60

75

80

90

90

100

105

110

120

120

120

175

200

220

(@]

130

175

150

170

190

210

230

250

300

350

400

460

520

580

115

155

125

140

160

180

200

220

260

300

350

510

463.6

330.2

40

50

55

65

75

90

100

110

120

140

140

190

180

200

HJII‘uI‘uIlHHlI
IF. l'JJI'.'.‘.'I I

26

22

25

30

35

40

45

50

55

60

70

70

70

88

80

100

[T
LG

4-M10

4-M12

4-M12

4-M12

4-M12

4-M16

4-M16

4-M16

4-M20

8-M20X2.5

8-M20X2.5

6-M24X3.0

8-M24X3.0

8-M24X3.0

100

110

120

130

140

160

180

180

196

170

230

MI—28,32

25

30

30

35

35

40

40

45

50

50

50

55

70

80

Chuck Size

% Rl Y AYS olnglo
% Specifications are subject o change wit houl rotice.

| iz

www .seoam kr |63

Sl A Ol |
> UsY

AHONHI IVNNVIN




EEE YA
MANUAL CHUCK
EER =T L F vy [ iFEHFEHFE

—« XZIM0

s

re
u

[ O wE&(22 7Y JawH )
—+ Easy to operate scroll chuck with sepped jaws.

- IMEB PSSt =T N F vy 2B~ =27 LY 3 5ER)

- RPN AR TS 8

A3NHD IVNNVIN

x 2o O 23S RAI5| s Hd U Bl 01 T2ALE FUHO FHAS

X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /FF&/ R/ AL E

Spec. At Box Jaw stroke | Max.stticarippngforce | Grioping Dia(Exteral gripping) | Maxpermissile speed | Weidht GD?
OrerN> | masza | g 3u o uf2iZ(21 2t} mm Hn Azeds | ®A | Moment of nerta
Model&iAl oHHE mm KN(kaf) Max ZICH Min £|4 rp.m(min’) ka N (kgf. )
MU-50 1MU50 50 - 1280 300 400 900 -
MU-63 1MUB3 40 = 1652 140 400 1600 =
MU-80 1MUBO 60 - 2000 240 250 2000 -

Dimension/"~H/ &/ 4+ &

B
S llemEE
T~

oo A B C D E F G max J K M N P Q R min S T
MU-50 | 1250| 180 | 720 | 647.6 | - - 554.5 | 367.5 | 8-M30x120L - - 385 155 | 260 8 -
MU-63 | 1600 220 | 720 @ 647.6 @ - - 746 | 395 | 8-M30x120L - - 571 100 | 140 6 -
MU-80 | 2000 260 - 1120 - - 1530 | 455 | 8-M30x120L - - 730 130 | 120 - -

X Xl A2 o nelo] HEE 4 UGl
% Specificalions are subject 1o change without rotice.

64 | www _seoam kr



HHEH SHEX
INDEPENDENT OIL COUNTRY CHUCK
FANAY VWEBF v o [ BREALEGFE

Outward Drawing/4} EUER/ARIEY @ & =

Specifications /Af&/ AR /AL E

—- UTHO| PR (AR HE) - A

-« TER (ER1{ZA)

2 o= 7tSAl HE
-+ High durability (Steel Body) - Suitable such as industria pipes
- BOAM R F - NFT < -) - EER7H TR
- TR 2%

\\ . . [
o Seck® o Chuck siz2 | Thru-holeDia | Grippng Force Gripping Dia Lt Weight Max permissitle peed
N o HolZ sy Tfote BExtemad (@) | Intema () B HINgRS
Model& Al \\\ - mm mm kof Max Z|CH Min &[4 kg rp.m(min”)
MIOC-20 007200C 508 210 2800 508 450 180 800
MIOC-24 007240C 600 310 3904 600 518 190 800
MIOC-28 007280C 710 310 3056 710 710 340 800
MIOC-32 007320C 800 380 3300 800 800 463 600
Dimension/R~t /&g /X 4+ B
x s B © D E F G H J K L Type of Mounting
Model&4 S
MIOC-20 | 508 110 - 250 210 71 181 140 40 M16 14 A2-15
MIOC-24 | 600 140 - 500 | 280/310 945 | 2344 | 1595 55 M24 17 A2-15/A2-20
MIOC-28 | 710 140 - 4636 | 280/310 | 89 229 205 60 M24 22 A2-15/A2-20
MIOC-32 | 800 145 - 4636 | 280/380 | 104.15 | 249.15 = 200 60 M24 22 A2-15/A2-20

X Xl 2 ARJE ol 2elo] HEE 4 UG
% Specificalions are subject o change without rotice.

www .seoam kr | 65

AHONHI IVNNVIN



SeOAM
ACCESSORIES

Z|nate XpRASR ANS CHBILICE
AHY HE 712 M MR 600{7t SXE Jlaint BYgls Lajoz
SE 712 M2 JIMOR n20| U FS 4 Y= HED Mu|AS HE5H0]
S2AAS opEB U

MO IABHZASIALS “Hn0l 22D D HUE"S kBT

We will make a great effort to get customers satisfaction with self—confidence of the best,
The SEOAM promises to provide gquality spare parts and reliable services with accumulated
technologies and knowhow in precise parts manufacturing for 60 years

SEOAM Machinery is proud of the highest guality and precision products,



SOFT JAW

AODE &
SOFT JAW

68P

HARD JAW

SlE &
HARD JAW

69P

JAW NUT

& HE
JAW NUT

70P

ADAPTER

OfEfH
ADAPTER

7P

, MS-JAW

N o
o HREHE

' b MANUAL CHUCK JAW

73P



S3IH0SS303V

AZE X
SOFT JAW
EIWR

SOFT JAW

oJ
2
o] AT
Figd -8 ° o |[°
_F.i_G H @K N
A
'ﬂ|
| A . 110N :
Fig.2 \NT/a\ey/) T T
Flc H_ ] \L_
A -
»SOFT JAW
SJ-LI0) L] L] "
Chuck Size Option . A A mi
Shape A | Flat(2+8) Fie-3 2SS | ] ‘] [, ‘ O Ji
B | Protrude(LLIE) I H_ e m] __]D ]
A . M

Dimension/R~/#E/A+E

Type Fig = Serration | A B C D E F G H J K L M N | Mathng Chuck H88
SJ-04T2 1 1.5X60° 54 25 25 10 5 10 14 30 135 9 14 8 3 CAS-4
SJ-05T1 1 15X60° 54 23 25 10 4 115 14 28 135 | 85 | 165 5 = CAH-5
SJ-06T1 1 15X60° 72 31 315 12 5 15 20 37 175 11 195 12 15 | CAH/CAS/CGH-6
SJ-08T1 1 15X60° 95 37 | 375 | 14 5 20 25 50 20 14 | 225 | 12 20 | CAH/CAS/CGH-8
SJ-10T1 1 15X60° | 110 44 | 445 | 16 5 30 30 50 20 14 | 285 | 15 20 | CAH/CAS/CGH-10

SJ-12T1 2 15X60° | 129 & 49 49 18 6 39 30 60 23 16 31 - - CAS-12
SJ-12A1 2 15X60° | 111 49 | 495 2 5 21 30 60 25 17 | 315 - - CAH-12
SJ-15A1 2 15X60° | 165 | 59 | 595 | 22 8 47 43 713 32 22 36 - - CAH-1518
SI-15A2 1 2 30X60° | 156 | 65 70 26 8 34 50 72 32 21 50 - - CASD-15,1821
SI-15A8 | 2 15X60° | 135 | 50 59 | 255 ) 26 43 66 32 22 39 - - CAS-15,18
SJ-21A1 2 30X60° | 180 | 59 | 595 | 25 95 40 60 80 32 22 36 - - | CAH/CAS-2124
S)-21A2 | 2 30X60° | 180 @ 65 70 26 8 34 50 96 32 22 50 - - CASD-24
SJ-32A1 3 - 165 | 75 83 | 127 | 125 | 219 | 762 @ 669 @ 32 27 54 11903 - CAS-32, 3HC
SJ-40A1 3 - 200 98 | 110 @ 30 6 35 | 100 65 40 27 86 | 1903 - CAS-40, 50
SJ-40A2 1 3 - 270 | 110 | 110 | 30 85 | 488 |2-762 688 | 40 27 85 | 1903 - | CAS-40HC,50HC

% A4 o A2 olnglol wzE 4 sttt

X Specificalions are subject o change without rotice.

68 | www . seoam kr



stle =
HARD JAW
=/ @n

HARD JAW

F H
CATT
L L By ] )
,m//uﬂ iZn
ok| 1
i H
: £ o e ‘
Chuck Size i  Option E R E R, -
: F' 3 3 <D 3 . #m
Shape A:ZStep((g'.:':_:)) 9 <> 3 ((J)) ; I"J . ; JQ
B SStep i} E 1 I 1 T
% .

Dimension/R~/J#&/ A+ &

Type Fig | Serration | A B © D E F G H J K L N O | Matching Chuck &2
HJ-06T1 1 15X60° | 755 | 31 4 12 5 30 20 12 1175 11 10 10 15 CAH/CAS-6
HJ-08T1 1 1.5X60° 87 39 51 14 5 27 25 22 19 13 12 12 12 CAH/CGH/CAS-8

HJ-10T1 1 15X60° | 101 | 40 | 54 16 5 43 | 30 17 19 13 13 15 15 CAH/CGH/CAS-10

HJ-12A1 2 15X60° | 1058/ 50 | 55 | 21 5 605 | 30 453 | 25 17 17 | 30 | 30 CAH-12

HJ-12T1 1 15X60° | 1044/ 50 | 62 18 6 | 296 | 30 § 303 23 16 15 256 | 25 CAS-12 JL_>J
HJ-15T1 1 15X60° | 159.2| 62 | 86 | 22 8 66 = 43 | 35 | 32 21 20 | 40 @ 40 CAH-15,18 ﬁ
HJ-15A1 2 30X60° | 1535/ 65 | 75 | 26 8 83 | 50 | 705 | 32 22 | 30 | 44 | 44 CASD-15,18,21 %
HJ-15A3 1 15X60° | 149 | 62 | 86 | 255 5 69 @ 43 | 27 | 32 21 20 | 43 38 CAS-15,18 @
HJ-21B1 2 30X60° | 159.5/ 80 | 90 | 25 12 /10348 50 | 562 32 22 | 40 | 55 - CAH/CAS-2124

HJ-32A1 3 - 145 70 | 75 | 127 ) 66 | 762 | 79 | 32 22 | 32 |1903| - CAS-3232HC

HJ-40A1 3 - 170 | 90 | 110 | 30 6 | 100 100 | 70 | 40 27 | 47 1903, - CAS-4050

HJ-40A2 3 - 2225 80 | 117 | 30 | 85 | 133 | 1143 895 40 27 | 55 | 1903, - CAS-40HC,50HC

X Xl 2AISE ol 2glo] HAEE 4 ASL L
% Specifications are subject o change without rotice.

www.seoam kr | 69



S3IH0SS303V

z HE

JAW NUT B&Em

MFo b/ MiEg

- A -
I
b |
. A - B
— [
T T
Fig-z—ﬁ}{}} B i
) |
- B -
A D
I —
N T e
rea MO B oL |
K, S |
B
A ]

"‘I

Fig.4

Dimension/R~H/ 2%k /X 4+ &

Type Fig A B ¢ D E F G H | J R
CAH-05 1 25 145 145 10 14 55 9 M8 - - 75
CAH-06 1 35 175 185 12 20 8 11 M10 - - 875
CAH-08 1 46 205 205 14 25 10 12 M12 - - 1025
CAH-10 1 Ol 225 215 16 30 1 13 M12 - - 1125
CAH-12 2 535 294 275 21 30 1 16 M16 13 - -

CAH-15,18 3 80 335 455 24 43 17 29 M20 11 22 -
CAH-21, 24 2 100 375 45 25 60 20 26 M20 16 - -
CAS-06 2 36 175 225 12 20 75 15 M10 6 = =
CAS-08 2 48 205 255 14 25 1 16 M12 8 - -
CAS-10 2 55 23 255 16 30 1 16 M12 8 - -
CAS-12 2 555 265 335 18 30 115 20 M14 12 - -
CAS-15,18 2 75 35 39 255 43 16 20 M20 12 - -
CAS-21,24 2 100 375 45 25 60 20 26 M20 16 - -
CAS-24 2 805 34 39 26 50 145 22 M20 10 - -
CAS-32 4 32 34 365 255 16 195 5 M20 127 - -
CAS-40 4 36 43 44 30 215 26 - M24 - - -

X Xl A2 oluglol HAE 4 Lt
% Specificalions are subject o change without rotice.

70 | www _.seoam kr



OFHEHE

ADAPTER p&a
TE? A~/ E=

o -
= s
.-- ™ 4.
- =2
L i
o o L - o <
&l =3 Gl s
o L_|
g M 1
=~
U
B |

Fig.1-1 Fig.2
» ADAPTER
AD - 00 ACIC
"""" Chuck Size  Spinde Nose
Blank I Standard
T | 2-jaw type
F | 4-jaw type
Nbdelﬁé!"emg% pindenos | Fig A | B © D E| F| G H J K L M N | Matling Chick X283
AD-05A04 A2-4 | 1-1110| 15 | 63513 | 61 | 147| 65 |8255| 12 | 96 | - 11 | 65 | 66 | CAH CAS-05
AD-06A05 A2-5 | 1-1|140| 15 | 82563 | 797 | 163 | 65 |10478/ 12 | 116 | - 11 | 65 | 66 | CAH CAS-06
AD-08A05 A2-5 2 | 170| 25 | 82563 | 797 | 163 65 10478 - [13335 M12 | 175 | 115 | 11 | CAHCAS-08
AD-08A06 A2-6 | 1-1|170| 17 | 106.375 | 103 /1945 65 |13335 135 | 150 | - 11 | 65 | 66 | CAH CAS-08
AD-10A06 AD-12A06 | A2-6 2 | 220 25 | 106375 103 (1945 65 (13335 - [171.45 MI6 | 20 | 135 | 14 | CAHCAS-10 Jr>)
AD-10A0BAD-12A08 | A2-8 | 1-1| 220 18 | 139719| 136 | 242 8 [171.45 18 | 190 | - 14 | 10 | 9 | CAHCAS-10 -
AD-15A11 A2-11 | 1-1/300| 22 | 19687 | 1921 2936/ 10 | 235 | 21 | 260 | - 17 | 11 1 CAH-15 %
AD-18A11 A2-11 | 1-1|380| 22 | 19687 19212936/ 10 | 235 | 22 | 320 | - | 175 | 11 | 11 CAH-18 %
AD-24A15 A2-15 | 1-1|380| 27 | 28577 |280.28 355| 10 | 3302 | 24 3302 - | 20 | 14 | 14 CAH-24 =
ADT-06A05 A2-5 | 1-2|140| 15 | 82563 | 797 | 163 | 65 |10478/ 12 | 116 | - 11 | 65 | 66 | CAHT,CAST-06
ADT-08A06 A2-6 |1-2| 170 17 | 106375 | 103 (1945 65 13335 135 | 150 | - 11 | 65 | 66 | CAHT,CAST-08
ADT-10A08 A2-8 | 1-2|220| 18 | 139719 136 242 8 |17145 18 | 190 | - 14 | 10 | 9 | CAHT,CAST-10
ADF-08A06 A2-6 | 1-1|170| 17 | 106375 103 1945 65 |13335 135 ° 150 | - 11| 65 | 66 CAHF-08
ADF-12A08 A2-8 2 | 220| 32 | 139719 | 136 | 242 8 17145 - (17145 Mi6 | 26 | 175 | 18 CAHF-12
ADF-15A11 A2-11 | 1-1|300| 22 | 19687 | 1929 2936/ 10 | 235 | 21 | 260 | - 17 | 11 1 CAHF-15
ADF-18A11 A2-11 | 1-1|380| 22 | 19687 | 1921/2936/ 10 | 235 | 22 | 320 | - | 175 | 11 | 1t CAHF-18
ADF-21A15 A2-15 | 1-1|380| 27 | 28577 (28028 36 | 12 | 3302 | 24 3302 - | 20 | 14 | 14 CAHF-21
ADF-24A15 A2-15 | 1-1|380| 27 | 28577 (28028 36 | 10 | 3302 | 24 3302 - | 20 | 13 | 14 CAHF-24

% R WAL ol nglo] HEE 4 ELCh
% Specificalions are subject o change without rotice.

www .seoam kr |71



FEE 7
SHORT TAPER SPINDLE NOSE
EWT - AR/ R

Short taper Spindle Nose

Dimension/<~f/T&FR/Al + &

SPINDLE A1 - Type

SPINDLE A2 - Type

spindle nose A B Cco C1 Al-TypeD1 | Al-TypeD2 E G
3 92 53975 353 - - 1 - M10
4 108 63513 413 = = 11 1415 M10
5 133 82563 524 3095 1429 13 159 M10
6 165 106.375 66.7 413 1588 14 1905 M12
8 210 139.719 857 5555 1746 16 238 M16
11 280 196.869 117.5 8255 1955 18 286 M24
15 380 285.77 165.1 123.8 2064 19 349 M24
20 520 41277 231.8 184.15 2223 21 413 M24

S3IH0SS303V

% Rl A AR ol nglo] HEE 4 UsLICE
% Specificalions are subject o change without rotice.

72 | www seoam kr



s & =
MANUAL CHUCK JAW
Z2490-NFrva Va- [ ZNEEMN

<L{ZE Internal Jaw>

I

<2|# External Jaw >

Dimension/R~I/TAFR/A T & E—>)

0

)

Type | LI L2 L3 L4 L5 L6 L7 B B2 B3 B4 B5 B6 K1 o]

T

MS-07| 75 | 22.6 | 25 55.3 | 50.2 @ 29 25.4 22 11 9.8 9.8 12 12 | 357 0
MS-09 8 | 258 @ 28 | 643 592 | 309 28 24 | 13.1 11 1.4 | 14 14 | 419
MS-10| 98 | 303 | 33 | 683 631 | 382 33 28 | 151 | 112 | 114 | 15 15 | 457
MS-12 | 110 34 35 | 823 758 425 35 30 | 149 1335 16 16 16 | 52.95
MS-14 | 132 40 42 | 939 8.8 | 515 | 415 35 20 16 18 18 18 | 59.9

% R W AU ol nglol HEE 4 laLct
% Specificalions are subject to change without rotice.

www.seoam kr |73



SeOAM
SPECIAL CHUCK

Zn2k= XRAe2 NS oLt

=L Z=2 RYAHI HElHE HEoll 24t SFC| 0 UFS E4+XE MR
7| AN RO A2 S5 Tisz 00| B He 4 Us

HZoh ME|AE MSolHd EZAS o4 sHlsUH

M7 AZL=A2AE "2l e 271 "1 HUE"S AZBiLc

We will make a great effort to get customers satisfaction with self—confidence of the best.
The SEOAM promises to provide world top class quality products and reliable solutions
with accumulated technologies by developing own chuck & cylinder and offering high—end
customized special purpose chuck keeping up with machine tool industry advancement.
SEOAM Machinery is proud of the highest quality and precision products.



FINGER CHUCK

FINGER CHUCK

/ :
! I'I f-"'\ )“}r._ ® $' ® ,.«\
i r "CE:{_ LS @ ﬁb@;} *’\.&ﬁ

HYDRAULIC DOUBLE PISTON CYLINDER

COLLET & FINGER FIXTURE

\_ L — -4 )

www _seoam kr |75

AMONHD TIVID3AdS



DRAW DOWN CHUCK & CENTERING

Work : Pistion

OUTSIDE PIN ARBOR CHUCK

Work : Pinion gear

9]
T
m
Q
>
2
Q
I
c
Q
A




INSIDE PIN ARBOR CHUCK

Work : Pully

RUBBER COLLET CHUCK

Work : Motor Rotor ASS’Y

AMONHD TIVID3AdS



FINGER & COLLET CHUCK

Work : Driving gear

DIAPHRAGM CHUCK

Work : Cup planet carrier

FINGER & COLLET CHUCK (AIR CHUCK)

Work : AL-Wheel

9]
T
m
Q
>
2
Q
I
c
Q
A

78 | www _.seoam kr



SPECIAL CHUCK

ECCENTRIC & COLLET CHUCK

Work : Compressor shaft

www.seoam kr | 79

||t
H |
\...ﬂ.b,; _ H
] P At _
_ A ERIT B3
T & ,%_ [ g
=0- W

— T

100

WEDGE BAR CHUCK

Work : Copper pipe

LEVER CHUCK

Work : Caliper housing




WEDGE BAR CHUCK

Work : Crank shaft

@ | E%—-
e N

SPINDLE & COLLET CHUCK

STATIONARY CHUCK

Work : Brake cam shaft

SPECIAL CHUCK

\\§
80 | www seoam kr



2Nz Bu o

CSM . c55|\/| . c56|\/| COMPENSATING CHUCK

BONHEET v v 7 [ HMEEFE

- ME E7IE -XSEARE - 2N BY .2 ool
—-+Center Hole Base - Self-Centering

- Compensation of Centrifugal Force - Strong Gripping
- HRELTR - HEPL - HEBLHD  -EREREED
-ty A% | EE-EHECRG - ROSHHE  -SBTE

HE A

STATIONARY CHUCK
BEf0Fvv s | BEEE

x|

— « TIRIA] Xkt . ClotSH EXI

= o= (==

Jm

— - Station—type Mounting - Diverse Features C10D
- -EEEE - SR
- -BIFERTE <ERAHE . CI0D=/ &

2 | QIX| &
QUICK CHANGE CHUCK
H494F vV F ey s | BliER

— - M&EE wH| cHIEY 2

— +Quick Change - Excellent Repe6.9 cmtition
- < TERR IR BNFABRL

- - -EETEES

E AEZ3 A
LONG STROKE CHUCK
AvA2ta-49Fvv s | KTEEE

--EAER3F - 22 2

- +Long Stroke - Excellent Compatibility
—-.Av42ta-2  «BnERM

- - A{THE -FEME

Chls &
2 & 3 JAW CHUCK
LEF vy IRRENEE

09}
T
m
Q
>
2
0
I
C
Q
A

— - Chesat mpot ‘Ci2N 85

»Various Clamping - Multiple Utilites
‘BERIDR - 2EHRE
L >S5 Rz

www _secoam kr |81



_ » Seoul

Y O SEOAM

; - Mo SAFAIZ|A
In-Cheon©. / : AR el

\5 Da?\-‘)eon

| | z

o A8

%I*t’ || Po-fi;lang

= | \ Dae-Gu © -

- » O UI-San
S |

3 Gwang-Ju 4 £

g . :g J o 6 S ~OBu-San

z 0 ©7 [ #Chang-Won

N{ll-—Al‘l : qu‘-/ 1=
’ p -
Je-Ju

a Operaton area Duration

Seoul - Gwanglu S0minuke
Seoul - Mokpo S6minute
Seoul - Muan Seminute
=
=
.
Gwengjs Songjung - Seod 100minute
Operaton area ‘ Duration
Gwan gJu - Seoul 210minute
Gwan glu - Busan 210minute
GwangJu - Daedon 110minute

=
1

I:
m,




sSeOAM

MACHINERY INDUSTRY



SEOAM

M RUZ |H B ZA 2 A
SEOAM MACHINERY INDUSTRY CO.,LTD.

www.seoam.kr

HEAD OFFICE | 127-15Hanam Industrial Complex,8th Road (Ancheong dong), Gwangsan gu, Gwangju, Korea 62213
2AL - 3| @62213 BFE AN AT St THEHE 127 —15(2U4H &)

At IH| @62213 MiEH TEESsER 127-15 (ER)

TEL. +82 62 960 5000 FAX. +82 62 951 9981 E—mail. master@smiltd.c o.kr

8lh T =13 & | g0LT INVOHS-L ON LVOI

=
=)

0/0/°€59°290 SA AQ paubiseg



